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GENERRL DESCRIPTION

TH1S DIAGNOSTIC CAN CHAIN 16 DUV11'S. THIS NMEANS THAT

16 DEVICES CAN BE SEQUENTIALLY EXERCISED  THE DIRGNOSTIC
MAKES ONE PRSS BEFORE PROUCEEDING TO THE NEXT DEVICE,

R:DngNTlNUES EXERCISING ALL DEVICES IN THIS FRSHION UNTIL
HALTED.

THE DUV11 OFFLINE COMBINED TIMING AND INTERRUPT TESTS

VERIFY THRT THE TRANSMITTER AND RECEIVER CAN CORRECTLY
TALK TO EACH OTHER INTERRUPT LOGIC AND PRIORITY LEVEL

/VECTOR RDDRESSES ARE RLSO VERIFIED

REGUIREMENTS

POP-11/03 COMPUTER (LS1)

DUV11 SYNCRONOUS/ISOCRONOUS OPTION

ONE CONSOLE TELETYPE OR EQUIVALENT

STORAGE
THE PROGRAM LOARDS INTO 4K OF MEMORY WITH BOOTSTRAP

LORDING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING RBSOLUTE BINRRY TRPES
IS TO BE USED

STARTING RDDRESS
FOR ABSOLUTE LORDER

YK 017500
8K 037500
12K 057500
16K 077500
20K 117500
24K 137500
28K 157500

STARTING PROCEDURE

CONTROL SHITCH SETTINGS

NOTE ALL SHWITCHES PESIDE INTERNAL TO THE (PU AT ADDRESS
176. THESE MAY BE SET VIA THE CONSOLE TTY BY DIRECTLY
MODIFYING LOC. 176.

NOTE RUNNING UNDER RAPT-11, THERE IS A USER SHITCH REGISTER

. REN

CALLED "SUSHR" IN ORDER TO BE FLEXIBLE ON THE RVAILIBILITY OF THE

H315 CONNECTOR, ONE BIT PASSES STATUS TO APT-11.
BIT O IN SUSHR REFLECTS THIS STATUS. 9 0 = CONNECTOR

REM

REM

SEQ 0002

-
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PRESENT, R 1 = CONNECTOR NOT AVRILIBLE

THE USER CHANGES THE CONTENTS OF THIS LOCATION
WHEN BUILDING THE E TRBLE, BY ANSHERING THE
PROMPT "SHITCH 2" <

RFTER PROGRAM LORD (INITIAL PROGRAM START)
ALL CONSOLE SHITCHES DOWN

TO MODIFY DEVICE VECTOR RND CONTROL REGISTER ADORESSES
AFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SHCN=1

TO START PROGRAM AT SELECTED TEST AFTER R PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)

SW01=1

TO LOCK ON SELECTED TEST RFTER A PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)

SH1Y=1

NOTE1- IN GENERAL SHO!1 WILL BE USED WHEN SHi4=1 1S USED

NOTEZ WITHOUT SHO1=1 "LOCK ON TEST" WILL DEFRULT TO TEST 1

STARTING RODRESS

THE STARTINu RODRESS FOR ALL TESTS IS 000200

THE RETARTING ADDRESS FOR ALL TESTS 1S 000200

THE STRRTING RODRESS TO ENTER A SELECTED TEST IS 000200

THE STRRTING AODRESS TO LOCK ON TEST IS 000200

PROGRAM RND/OR OPERRTOR ACTION

INITIAL PROGRAM START

4 3 1 1 LORD PROGRAM INTO MEMORY WITH ABSOLUTE LOADER

4 31 2 SET SWITCH REGISTER (LOC 176) TO ZERO

4 3 1 3 TYPE 200G
3

1 4 PROGRAM HILL START

4.3 1 & THE PROGRAM WILL TYPE "DUV11 DZDUU-B TAPE E™ (ONCE ONLY)
4. 3.1 6 THE PROGRAM WILL TYPE "R™ TO INDICARTE THRT IT IS ABOUT
TO START TESTING .RAND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN

4 3 2 1 THE PROGRAM WILL TYPE "R" RND HiLL COMHENCE TESTING

StQ 0003

REM X

PEM X
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PROGRAM RESTART HITH SHO0=1

433
4 33
4 33
4 33

4 33

4 33
INPUT

4 3 3

1 SET SHITCH REGISTER (LOC. 176) TO A 000001.
2 TYPE 2006G.

3 PROGRAM WILL START

n

THE PROGRAM WILL TYPE " 1ST DEVICE- RECEIVVER CONTROL REGISTER
RDDRESS" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

S TYPE IN THE RDDRESS OF THE FIRST RECEIVER CONTROL
REG.STER RDDRESS OF THE DUVi1 TO BE TESTED
FOLLOWED BY R (CRRRIAGE RETURN>

IF AN INCORRECT RDODRESS 1S TYPED ., THE PROGRAM HWILL TYPE "7"
AND WILL THEN REPEAT THE MESSAGE OF 4 3.3 4

6 THE PROGRAM WILL TYPE "VECTOR RDORESS-" AND WRIT FOR AN
FROM THE TELETYPE KEYBORRD

7 TYPE IN THE BRSE RECEIVER INTERRUPT VECTOR RDORESS
FOR THE DUV11 TO BE TESTED FOLLOWED BY R (CRARRIAGE RETURN>

IF WN INCORRECT RDDRESS IS TYPED . THE PROGRAM WILL TYPE "?"
AND WILL THEN REPERT THE MESSAGE OF 4 3 3 6

.8 THE PROGRAM WILL TYPE "ARE YOU RUNNING MULTIPLE DEVICES "

(Y OR N)-" AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
9 TYPE IN THE RAPPROPRIATE ANSWER YES OR NO FOLLOWED BY R
CCARRIAGE RETURN>

IF AN INCORRECT RNSWER IS GIVEN, THE PROGRAM HILL TYPE "7?"
AND WILL THEN REPERT THE MESSAGE OF 4 3 3 8

IF A "NO" RANSWER IS GIVEN JUMP TO SECTION 4 3 3 12
IF A "YES" ANSWUER IS GIVEN THE NEXT QUESTICL S RSKED

10 THE PROGRAM WILL TYPE "LAST DEVICE RECEIVER CONTROL
REGISTER RDDRESS-" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

-1 TYPE IN THE RDDRESS OF THi LAST RECEIVER CONTROL REGISTER

ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED BY R <CARRIAGE RETURN>

IF AN INCORRECT ANSHER IS TYPED . THE PROGRAM HILL TYPE "7
AND WILL THEN REPEART THE MESSAGE OF 4 3 3 10
NOTE ALL RDDRESSES SHALL BE CONTIGUOUS

111 IF AN "OUT OF RANGE" ADDRESS IS TYPED
IE MORE THAN 16 (10) DEVICES RHAY (UPWRRDS) THE

SEQ 0004
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PROGRAM WILL TYPE "OUT OF RANGE. RETYPE LAST DEVICE RXCSR RDDRESS-"
AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

v 33112 TYPE IN THE RDDRESS OF THE LAST RECEIVER CONTROL
REG!STER RDDRESS OF THE DUV11 TO BE TESTED FOLLOWED
BY R (CARRIAGE RETURN>

IF AN INCORRECT ANSHWER IS TYPED , THE PROGRAM HILL TYPE "7?"
AND HILL REPERT THE MESSARGE OF & 3 3. 11.1

IF A DEVICE ADDRESS LOWER THAN 1ST DEVICE RDDRESS IS TYPED.........
SCHOOLS OUT . . THERE S NO PROTECTION FOR THIS.

THE PROGRAM WILL DEFAULT TO TWO DEVICES ACTIVE (UPWARTS FROM

1ST DEVICE RADDRESS). THE SAME APPLIES TO IDENTICAL RDURESSES

TYPED FOR FIRST AND LAST DEVICE.

OBSERVE LOCATION @ RCTREG SEE SECTION 7 2

4 3 3 12 THE PROGRAM WILL TYPE "# OF SYNC CHRRS
SELECTED (1 OR 2)-" AND WARIT FOR AN INPUT FROM THE TELETYPE
KEYBOARD REFER TO MANUAL FOR PROPER SWITCH SETTINGS OF

SHITCH E55-4

4.3 3 13 TYPE IN THE RPPROPRIATE ANSWER "1" OR "2" FOLLOWED
BY A (CRRRIAGE RETURN> (NOTE- ALL MULTIPLE DEVICES MUST
BE 1HE SRAME)

IF AN INCORRECT ANSWER IS TYPED . THE PROGRAM WILL TYPE "7"
AND WILL REPERT THE MESSAGE OF 4 3 3 12

4.3 3 14 THE PROGRAM MWILL TYPE " 1S SEC XMIT SHITCH E55-2 ON? (Y OR N)-"
AND WARIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
4 3 3156 TYPE IN THE APPROPRIATE ANSHER YES OR NO FOLLOUWED

BY A <CARRIAGE RETURN>. (NOTE THAT ALL MULTIPLE DEVICES
MUST BE THE SRME)

IF AN INCORRECT ANSHWER IS TYPED ., THE PROGRAM HILL TYPE "7"
AND WILL REPERT THE MESSAGE OF 4 3 3. 1V

4 3 3 16 THE PROGRAM WILL TYPE "1S SEC REC SHITCH E55-3 ON?
(Y OR N)-" AND HAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
4.3 3 17 TYPE IN THE RPPROPRIARTE ANSHER YES OR NO FOLLOWED

BY A (CARRIAGE RETURN> (NOTE. ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSHWER IS TYPED ., THE PROGRAH WILL TYPE "7
AND WILL REPERT THE MESSAGE OF & 3 3 16

4 3 3 18 THE PROGRAM WILL TYPE "IS OPT CLR ENABLE SHITCH
ESS5-1 ON? (Y OR N)-" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
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43319 TYPE IN THE RPPROPRIATE RANSWER YES OR NO FCLLOMWED
BY R (CARRIAGE RETURN>. (NOTE. ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT RANSHER 1S TYPED , THE PROGRAM WILL TYPE "?°
AND WILL REPERT THE MESSAGE OF 4.3 J 18

b 3 320 THE PROGRAM WILL TYPE "ARE YQU RUNNING IN MRINT
MODE EXTERNAL ? AND . D0 YOU HAVE THE EXTERNAL MODEH
BYPASS JUMPER CONNECTOR ON ? (Y OR N)-" AND WRIT FOR RN
INPUT FROM THE TELETYPE KEYBORRD

b4 232 TYPE IN THE RPPROPRIATE ANSWER YES OR NOQ FOLLOWED BY
A (CARRIAGE RETURN>. (NOTE ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSKHER 1S TYPED , THE PROGRAM WILL TYPE "7"
AND WILL REPERT THE MESSRGE OF 4 3 3 20

4 3 2 22 THE PROGRAM WILL TYPE "R™ TO INDICATE THART IT
HAS STARTED AND HWILL COMMENCE TESTING AT TEST 1

4 34 PROGRAM RESTRART WITH SHO1=1
NOTE THIS WILL ONLY WORK WHEN R SINGLE OEVICE 1S SELECTED
».. T HILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED

IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED.LORD 000200,
AND SELECT SWOO=1 AND RANSHER "NO" TO THE MULTIPLE DEVICE QUESTION
SEE 4 3 3

4 34 1 SET SWO1=1 IN SWITCH REG (LOC 1786)
4 3 4 2 TYPE 200G
4 3 4 3 PROGRAM HILL START

4 3 4 4 THE PROGRAM WILL TYPE "TEST PC-" AND HRIT FOR AN INPUT FROM
THE TELETYPE KEYBORRD

4 345 TYPE IN THE RDORESS OF THE TEST AT WH:.{H THE PROGRAM IS TO
BE STARTED FOLLOWED BY A <(CARRIAGE RETURN>

4 3 4 6 THE PROGRAM WILL TYPE "R"™ TO INDICATE THAT 1T HAS STARTED
TESTING AT THE SELECTED TEST

NOTE CARE MUST BE TAKEN WHEN THIS FEATURE IS USED
,SINCE THERE 1S NO PROTECTION AGRINST SELECTING AN RDDRESS
THRT 1S IN THE MIDDLE OF R TEST
4.3 5 PROGRAM RESTART WITH SHiy =1
NOTE- THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED
SEE NOTE IN 4 3 4 FOR MORE DETRILS
4 361 SET SHi4=1 IN SWITCH REG (LOC 176)

4 3 6 2 TYPE 200G

Sea 0006
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4 3 5 3 PROGRAM HWILL STRRT

4 3 5 4 THE PROGRAM WILL TYPE "“LOCK ON SELECTED TEST ? (Y OR N)-"
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4 36565 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
(CARRIAGE RETURN)

IF A NO ANSHER IS GIVEN THIS LOCK ON TEST HWILL BE IGNORED

AND THE PROGRAM WILL TYPE "R" TO INDICATE THRT IT HAS STARTED

TESTING AT TEST 1

4 3656 IF A YES ANSHER WAS GIVEN. THE PROGRAM WILL ACT AS FOLLOWS
THE PROGRAM WILL TYPE "R"™ TO INDICATE THRT IT HRS STARTED
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALED
OR IF ANY KEY 1S STRUCK ON THE TELETYPE , THE PROGRAM
WILL FREEZE ON THE NEXT TEST UNTIL R KEY IS STRUCK ON
THE TELETYPE AND SO FORTH THRU THE PROGRAM. IF SWO1 =1 IT
WILL PERFORM RS IN SECTION 4 I 4 ALLOWING ONE TO FREEZE
ON R SELECTED TEST RATHER THAN DEFRULTING TO TEST 1

OPERARTING PROCEDURE
OPERATIONAL SWITCH SETTINGS (INTERNAL TO THE CPU, ACCESSED VIR LOC

SH15 =1 HALT ON ERROR

SHiY =1 LOOP ON CURRENT TEST

SH13 =1 INHIBIT ERROR TYPEOUT

SH11 =1 INHIBIT ITERRTIONS

SH10 =1 ESCAPE TO NEXT TEST ON ERROR

SHO9 =1 LOOP ON ERROR

SHO1 =1 RESTART PROGRAM AT SELECTED TEST

SHOO =1 RESELECT VECTOR AND CONTROL REGISTER RDRESSES

LPARAMETERS AFTER A PROGRAM RESTART
TO INHIBIT “"END OF PRSS" TYPEOUT - TURN TELETYPE OFF

ERRORS

ERROR HALTS (UNDER LS| ALL HALT ERRORS RETURN CONTROL TOO D T )
THERE RRE FOUR DISTINCT ERROR TYPEOUTS

PC+Z = ERROR PC
WHERE PC +2 1S THE RDORESS OF THE CALL TO THE ERROR HRNOLER +2

REFER TO THE RBOVE "HLT" IN DIRGNOSTIC FOR ERROR DESCRIPTION

CHECK RDDRESS @ RXCSR TO LOCATE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

PC 42 = REGISTER ERROR P(
REGISTER EXPECTED RACTUARL
16XXXX YYYYYY 222222

WHERE 16XXXX IS THE RDDORESS OF THE FAILING DEVICE REGISTER

176)

StQ 0007
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WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 222222 1S THE RCTURL CONTENTS OF THRT REGISTER

PC +2 = RECEIVER ERROR PC
REGISTER EXPECTED RCTUAL
16XXXX YYYYYY 222222

WHERE 16XXXX IS THE RDDRESS OF THE FRILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY IS THE EXPECTED DARTR CONTENTS Of THAT REGISTER
WHERE 222222 |S THE RCTUAL DRTA CONTENTS OF THRT REGISTER

PC 42 = TRANSMITTER ERROR PC
REGISTER EXPECTED RCTURL
16XXXX YYYYYY 222222

WHERE 16XXXX IS THE RDORESS OF THE FRILING TRANSHMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THRT REGISTER
WHERE 222222 1S THE RCTURL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETRILS OF ERRORS

ERROR RECOVEPY

SHi5 =0
IF THE PROGRAM S RUN WITH SKW15 =0 ,NO OPERATOR ACTION IS
REQUIRED TO CONTINUE TESTING

SH15 =1

IF THE PROGRAM 1S RUN WITH SW15 =1 , TO CONTINUE TESTING
AFTER THE PROGRAM HRS HALTED ,PRESS THE PROCESSOR
CONSOLE "CONTINUE SWITCH"

NOTE THE PC + 2 OF THE "HLT" WILL BE DISPLAYED IN THE DRTA L IGHTS

ILLEGAL INTERRUPTS

IF AN INTERRUPT OCCURS TO A VECTOR RDDRESS NOT SELECTED
DURING PROGRAM INITIALIZATION, THE PROGRAM HILL HALT IN
THE TRRPCATCHER. THE RADDRESS AT WHICH THE PROGRAM

HALTS 1S 2 GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTRRTED AT 000200 TO
RECOVER FROM THIS ERROR

ADDITIONAL TROUBLESHOOTING RIDS ERRCNT & PRASCNY
CHECK THESE TWO TRG LOCATIONS FOR TOTAL & OF ERRORS AND PRSSES RESPECTIVELY
LORD ING 000200 AND RESTRRTING HILL CLERAR THESE LOCATIONS

END OF PASS ROUTINE
THIS TYPEOUT 1S MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORHN
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721

722

73

231

15-SEP-77 10 13

END OF PRSS TAPE Y
16XXXX = DEVICE

WHERE Y IS THE TAPE LORDED

HHERE 16XXXX IS THE DEVICE'S BRSE REGISTER RDDRESS
TO INHIBIT THIS TYPEOUT - TURN TELETYPE OFF
RESTRICTIONS

MULTIPLE DEVICES
UP TO 16(10) DEVICES MRY BE TESTED HOWEVER, THEY
MUST HAVE CONTIGUOUS RDDRESSES AND VECTORS

NOTE IF RALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE "ZERO: ROD #10.BARSEIV »NEXT BLOCK
(VECTORS)" TO "ZERO: RDD #0.BRSE V",

THEREBY THE VECTOR RDORESSES WILL NOT Bt

UPODRTED RFTER ERCH PRSS.

DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MULTIPLE DEVICES AN RCTIVE BIT IS SET
FOR ERCH DEVICE RUNNING UNDER TEST IE BIT O FOR
DEVICE O .BIT 15 FOR DEVICE 15

TO DISQUALIFY DEVICES.

IF DEVICE O IS TO BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWOO =1 AND OMIT THE FIRST DEVICE

IF HOWEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
RRE TO BE DISQUALIFIED.... LORD THE LOCATION OF RCTREG
OBSERVE THE RCTIVE BITS (ACTIVE =1, NONRCTIVE = 0)

RND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUAL IFIED

7 221 70 RESTRRT . TYPE 200G. .
THE PROGRAM HILL CONTINUE WITH THE DEVICE 1T HRS IN BEFORE HALTING

7?7222 OR .. ..SET SHOO=1 IN SHITCH REG (LOC 176) RAND TYPE 200G
ANSHER THE QUESTION . 1ST DEVICE - ETC
THE PROGRAM HWiLL CONTINUE WiITH DEVICE O

? 22 3 IF ALL DEVICES ARE DISQUAL IFIED BY MISTRKE  THE PROGRAH
WILL TYPEQUT RN ERROR MESSAGE . TYPE 2006

CRBLE DELRAYS
NOTE: EXTERNAL LOOP BRCK TESTS ONLY (MODEM CRBLE WITH H315 CONNECTOR ON)

TO PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CRBLE,
LOCATION "HOLD- " MUST BE MODIFIED TO ACCOMODATE FOR FASTER MACHINES
PRESENTLY "HOLD ™ =20 IS SUFFICIENT TIME ON AN 11/03 MACHINE

BASICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EIR DRIVERS

sea 0009
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TO USE THE "XOR™ TESTER . THE BRANCH RROUND THE "XOR"
CODE MUST BE PRTCHED TO R "NOP". (SEE LISTINGS fOR DETRILS)

DEFRULT PRARAMETERS
1ST DEVICE RECEIVER CONTROL REGISTER RODRESS- RXCSR- 160010

VECTOR RDDRESS- DURIV 770
ARE YOU RUNNING MULTIPLE DEVICES ?- NO MULTD O
LAST DEVICE. RECEIVER CONTROL REGISTER RDORESS- LRSTRDD O
% OF SYNC CHRRS SELECTED - 2 SYNCNO 377

IS SEC XMtT SHITCH E55-2 ON?- YES SEXMIT 377

1S SEC REC SHITCH ES5-3 ON?- YES SEREC 377

IS OPT CLR ENRBLE SHITCH ES55-1 ON?- YES OPTCLR 377

DO YOU HRVE THE EXTERNAL MODEM BYPRSS JUMPER
CONNECTOR ON (H315,- YES JHRBY 377

PROGKAM DESCRIPTION

X
REM %
THIS PROGRAM PERFORMS THE OFFLINE COMBINED (TRANSMITTER & RECEIVER)
TIMING & INTERRUPT TESTING OF THE DEVICE
SEE LISTING FOR DETAILS 5
REM X

FLOW CHRRTS RECEIVER FLOHW, TRANSHITTER FLOKW. TRANSMITTER & RECEIVER FLOM
LISTINGS
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525
526
527
528
529
530
53
532
533
534
535
536
537 00C001 $TN=1
538
539
540
B41
542
543
544
545
46
547
548
549
550
551
652
553
554
555
556
657
558
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559
560
561
562
563
S6M4
565
566
567
568
569
570
571
572
573
574
575
576
577
578
579
580
581
582
. 583
584
585
586
587
588
689
590
591
592
593
594
595
596
597
598
599
600
601
602
603
604
605
606
607
608
609
610
611
612
613
614

31-MAY-77 09 50

001100

000011
000012
000015
000200
172776

1772774
1772?22
177570
177570

000000
000001
000002
000003
000004
000005
000006
000007
000006
0ocoa7

000000
000040
000100
000140
000200
000240
000300
000340

100000
040000

n1
RPT COMMUNICRTIONS ROUTINE
ENARBLE RBS

.DUV11 DZ20UU-B TRPE E
»COPYRIGHT 1977, DIGITAL EQUIPMENT CORP., MAYNRRD. MRSS 01754

;STRARTING PROCEDURE

; TYPE 200G

;PROGRAM WILL TYPE "OUV1i DZ20OUU-B TRPE E

JPROGRAM WILL TYPE "R" TO INDICATE THRT TESTING HRS STRRTED
;AT THE END OF R PASS, PROGRAM WILL TYPE "END OF PRSS TAPE E"
,AND THEN RESUME TESTING

.SBTTL BRSIC DEFINITIONS
+XINITIAL RADDRESS OF THE STACK POINTER xxx 1100 Xx*xX

21-SEP-77 09 22 PAGE 14

STACK= 1100

.EQUIV EMT, ERROR ,»BASIC DEFINITION OF ERROR CALL
.EQUIV 10T, SCOPE ;»BRASIC DEFINITION OF SCOPE CALL
» XMISCELLANEOUS DEF INITIONS

HT= 11 »»CODE FOR HORI|ZONTAL TRB

LF= 12 .. CODE FOR LINE FEED

(R= 15 ;,CODE FOR CARRIAGE RETURN

(RLF= 200 ;,CODE FOR CRRRIRGE RETURN-LINE FEED
PS= 177776 »+PROCESSOR STATUS WORD

. EQUIV PS.PSH

STKLMT= 177774 .- STACK LIMIT REGISTER

PIRQ= 177772 ;»PROGRRAM INTERRUPT REQUEST REGISTER
DSWR= 177570 ; .HARDKARE SHITCH REGISTER
DDISP= 177570 . »HARDHWARE DISPLAY REGISTER

; XGENERAL PURPOSE REGISTER DEFINITIONS

RO= %0 ., GENERRAL REGISTER

Ri= %1 ;. GENERRL REGISTER

R2= %2 ; . GENERAL REGISTER

R3= %3 »» GENERAL REGISTER

RY= A ;. GENERRL REGISTER

R5= %5 , . GENERRL REGISTER

R6= %6 »» GENERRL REG'STER

R7= %7 ;. GENERRL PT4ISTER

SP= %46 »+» STRCK PUINTER

PC= %7 .. PROGRRM COUNTER

,XPRIORITY LEVEL DEFINITIONS

PRO= 0 PRIORITY LEVEL O

PR1= 40 +:PRIORITY LEVEL 1

PR2= 100 ;.PRIORITY LEVEL 2

PR3= 140 ,PRIORITY LEVEL 3

PRY= 200 ,PRIORITY LEVEL M4

PR5= 280 ++PRIORITY LEVEL 5

PR6= 300 ;.PRIORITY LEVEL 6

PR?= 340 ,;PRIORITY LEVEL 7

+X"'SHITCH REGISTER" SWITCH DEF INITIONS
SWi5= 100000
SWi4= 40000

SEQ 0012
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615
b16
617
618
619
620
621
622
623
624
625
626
627
628
629
630 *
631
632
633
634
635 |
636
637
638
639
640
B41
642
643
644
645
646
647
648
649
650
651
652
653
654 -
655
656
657
658
659
660
661
662
663
664
665
666
667
668
669
670

020000
010000
004000
002000
001000
000400
000200
000100
000Qu40
000020
000010
000004
oocooz2
000001

*

100000
040000
020000
010000
004000
002000
001000
000400
000200
000100
000040
000020
000010
000004
000002
000001

000004
000010

21-SEP-77 09-22 PRGE 15
31-MAY-77 09 50

BRSIC DEF ENITIONS

SH13=
SW12=
SHit=
SW10=
SW09=
SHO8=
SW0?7=
SHO6=
SWos=
SWOY4=
SW03=
SW02=
SWOoi=
SW00=
.EQUIV
.EQUIV
.EQUIV
.EQuUIV
EQUIV
.EQuUIV
.EQUIV
EQUIV
EQUIV
EQUiIV

. XDRTA

. 3BRSIC
ERRVEC=
RESVEC=

20000
10000
4000
2000
1000

400

200

100

40

20

10

Y

2

1

SWO9. SK9
SHO8. SW8
SHO?, SH?
SHO6. SH6
SWOS. SHS
SHOY , SHY
SHO3. SW3
SWO2, SH2
SWO1. SH1
SHOO, SHO

BIT DEFINITIONS (BITOO TO BIT15)

100000
40000
20000
10000
4000
2000
1000
400
200

i

BIT09.81T79
BIT08.B1T8
BIT07.8B177
BI1T06.81T6
BIT05.8175
BITON,BITY
BITO3.B1T3
B1702.8172
BITO1.B1T1
BIT00.8170

“CPU" TRAP VECTOR RDDRESSES

m
10

.. TINE OUT AND OTHER ERRORS
., RESERVED RAND ILLEGRL INSTRUCTIONS

SeqQ 0013
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671
672
673
674
675
676
677
678
679
680

21-SEP-77 09 22 PRGE 16

31-HAY-77 09 50 BASIC DEF INITIONS
000014 TBITVEC=14
000014 TRTVEC= 14
000014 BPTVEC= 14
000020 10TVEC= 20
000024 PHRVEC= 24
000030 EMTVEC= 30
000034 TRAPVE (=Y
000060 TKVEC= 60
000064 TPVEC= 6U
000240 PIRQVEC=240

LT BT

, . TRACE TRAP

; ;BRERKPOINT TRAP (BPT)

;. INPUT/Z0UTPUT TRARP (I10T) x¥SCOPEXX
;. POHER FAIL

;;EMULATOR TRRP (EMT) XXERRORXX
;."TRAP" TRAP

.+ TTY KEYBORRD VECTOR

.. TTY PRINTER VECTOR

. .PROGRAM INTERRUPT REQUEST VECTOR

SEQ 001y
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0zZOuus M1t 31-MRY-?7
681
682
683
684 000174

685 00017« 000000
686 000176 000000

687 000200
688 000200 000167
689
690
691
692 001100

693 001100 00C000
694 001102 177570
695

696

697

698

699

700 Q01104 000000
701 001106 0000C0
702 001110 000000
703 001112 000090
704 001114 000000
705 001116 000000
706

7207

708

209 001120 000020
710 001122 000000
711 001124 Q000000
712 001126 000000
713 001130 000000
714 001132 000000
715 001134 000000
716 001136 000000
717 001140 000000
718 001142 000000
7;8 001144 000000
7

21-SEP-77 09 22 PAGE 17

09 50

001746

BRSIC DEF INITIONS

; STANDARD INTERRUPT VECTORS

=174
DISPREG O
SHREG O
=200
JHP

.=31100
. WORD O
LIGHTS 177570

START

»GO TO START OF PROGRAM

» PROGRAM CONTROL PARAMETERS

RETURN O
NEXT: 0
LOCK 0
PRASCNT O
ERRCNT O
SARVSP O

; ADDRESS OF NEXT TEST TO BE EXECUTED
; RADORESS FOR LOCK ON CURRENT DATR

» ADDORESS CONTRINING PASS COUNT
;ERROR COUNT

»STACK POINTER STORAGE

. PRCGRAH VAR IABLES

HOLD
SHIFT,
COUNT
SRVP(
HLOO
HLD1
HLD2
HLDJ
HLO4
HLDS
HLD6

[0
o

(o Now Niow Niow N om 'om lwe N'ow Yo J'ow

» TEMPORRRY STORAGE=DELAY TIME FOR CABLES

- TEMPORARY STORAGE= # OF SHIFTS PER CHAR

» TEMPORARY STORRGE= # OF TIMES A CHAR WILL BE SENT
»PROGRAM COUNTER STORRGE

SEQ 0015
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0zZDbuuB M1t

721
722
223
724
725
726
727
728
729
730
731
732
733
734
235
736
737
738
739
740
741
42
43
744
745
746
N7
748
749
750

001146
001147
001150
001151
001152
001153

001154
001156
001160
001162
00116M
001166

001170

001172

001173
001174

3?7
377
377
377
000
377

000000
000000
00C000
800000
000000
000000

000000

000
000
000
001176
001400

21-SEP-77 09 22 PRGE 18

BRSIC DEFINITIONS

SYNCNO:
SEXMIT
SEREC:
OPTCLR:
MULTD:
JMRBY:
. EVEN

BASERDD:
KEEPROD
LASTADD:
BASE 1V:
KEEP IV
ACTREG:

ROTRDD

INIFLG

STFLG

LOKFLG
EVEN
=1400

;PROGRAM CONVERSATIONAL PRRAMETERS

.8YTE 377 ;8 OF SYNC CHARS REQ'D FOR SYNC'ZRTION
.BYTE 377 ;SEC XM1IT JUMPER "IN"

.BYTE 377 . SEC REC JUMPER "IN"

. BYTE 3?7 OPTIONAL JUMPER CLR "iIN"

.BYTE O +NO HULTIPLE DEVICE FLARG

.BYTe 377 ;EXTERNAL MODEM BYPASS JUMPER "IN

»PROGRAM MULTIPLE DEVICE PRARAMETERS

,PROG CONTROLLED 1ST DEVICE RDOR

. SAVED 1ST DEVICE RODDR

,LAST DEVICE RXCSR RDDR

;PROG CONTROLLED IV

; SARVED INTR VECTOR

;ACTIVE REGISTER ., . MODIFY THIS
.LOCATION TO DISQUAL IFY OR QUAL IFY
,DEVICES (1= RUN,,,.0= DON'T RUN)
-,ROTATING POINTER FOR ACTREG POINTS
;TO DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DEVICES

. PROGRAM CONTROL FLRGS

(o Jow Nom Yom J o Yo |

.BYTE O ;PROGRAM INITIALIZATION FLAG
.8YTe 0@ . TEST START FLAG
BYTe O »LOCK ON CURRENT TEST FLAG

SEQ 0016
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21-SEP-77 09:22 PRGE 19
bAS1C DEF INITIONS

; INSTRUCTION DEF INITIONS

PUSH1SP=5746
POP1SP=5726
PUSHRO=10046
POPRO=12600

;SAVE RO ON STACK =MOV
;RESTORE RO FROM STACK
PUSH2SP=24646 .DECREMENT STACK TWICE
POP2SP=22626 ; INCREMENT STRCK TWICE
-REGISTER DEFINITIONS

;RXCSR BIT DEFINITIONS

;DECREMENT PROCESSOR STARCK 1 WORD =TST -(SP)
; INCREMENT PROCESSOR STACK 1 WORD =TST (SP)+

RO. - (SP)

=MOV (SP)+.RO
=CMP -(SP),-(SP)
=CHMP (SP)+, (SP)+

StQ 0017

LZDULB M1t

751

752

753

754

755

?56 005746
757 005726
758 010046
759 012600
760 024646
761 022626
762

763

764 100000
765 040000
766 020000
767 010000
7’68 004000
769 002000
770 001000
771 000400
772 000200
7?73 000100
774 000040
775 000020
776 000010
77?7 000004
778 000002
779 000001
780

781 100000
782 040000
783 020000
784 010000
785

786 001000
787 oogu 00
788

789 030000
790 020000
791 000000
792 000000
793 002000
794 004000
795 006000
796 000000
797 001000
798 001400
799

800 100000
801 040000
802 020000
803 002000
804 000400
805 000200
806 000100

DSC=81T15 ;DATRA SET CHANGE
RING=BIT14 . RING
(TS=8IT13 :CLR TO SEND

CARDET=B1T12
RECACT=BIT11

;CARRIER DETECT
REC ACTIVE

SRD=81T10 . SEC REC DARTA
DSR=BIT9 .DATR SET RDY
STPSYN=BIT8 +STRIP SYNC
RXDONE=B | T? ;REC DONE
RINTEN=BIT6 ;REC INTR ENRABLE
DSINTE=BITS .DSC INTR ENRBLE
SYNSCH=BITY » SYNC SEARCH
STD=B173 ;SEC XMIT DRTRA
RTS=BIT2 .REQ TO SEND
DTR=BIT1 ;DRTR TERM RDY
voI10=81T0

.RXDBUF BIT DEF INITIONS
RXERR=B1T15 ;REC ERROR
OVRRUN=B81T1H . OVERRUN

FRMERR=BIT13

, FRANE ERROR

PARER=BIT12 +PARITY ERROR
;PRARCSR BIT DEFINITIONS
N PAREN=BITY9 PARITY ENRBLE
' EVPAR=BITS8 EVEN PRRITY SENSE

-PRARCSR WRD DEF |
SYNINT=30000
SYNEXT=20000

NITIONS
- SYNC EXTERNRL MODE
;SYNC INTERNAL MOOE

ISYMOD=0 . 1SOC MODE

FI1VE=0 - HORD LENGTH 5 BITS
S1X=2000 - HORD LENGTH 6 BITS
SEVEN=4000 ;HORD LENGTH 7 BITS
E IGHT=6000 - HORD LENGTH 8 BITS
NOPAR=0 +NO PRRITY
ODDOPRR=1000 . 000 PARITY

EVEPRR=1400

EVEN PRRITY

;TXCSR BIT DEFINITIONS

ONR=BIT15 .DATA NOT RVAILRbLE
MTDATAR=BIT1Y -MRINT DARTA
(LK=BIT13 . CLK

BITH=B81T10 .B1T HINDOK
MRESET=BI1T8 . MASTER RESETY
TXDONE=B 117 . XM1T DONE
TXINTE=BIT6 +XHIT INTR ENRBLE
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D20UUB M1t 31-MARY-?77 09. 50

807 000040
808 000020
809 000010
810 000001
811

812 000000
813 004000
81y 010000

815 014000

BRSIC DEFINITIONS

DNRINTE=BITS -DNR INTR ENRB
SEND=B I Ty . SEND
HOXEN=B1T3 . HOX/FDX
BRERK=BITO - BRERAK

+ TXCSR WRD DEF INITIONS
USER=0 . USER MODE
MINT=4000 ;MAINT INT MODE
MEXT=10000 »HRINT EXT MODE
SYSTST=14000 » SYSTEM TEST MOOE

sea 0018
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DzZouus

816
817
818
819
820
821
822
823
824
825
826
827
828
829
830
831
832
813
834
835
836
817
838
839
840
841
842
843
844
845
846
84?7
848
849
850
851
852
853
854
855
856
857
868
859
860
861
862
863
864
865
866
867
868
869
870
871

M1

001400
001400
001402
001403
001404
001406
001410
001412
00141y
001415
001416
001420
001422
001424
001426
001430
001432
001434
001435
001436
001440
001442
00144y
001446
001450
001452
001454
001455
001456
001457
001460

001462
00146N
001466
001470
001472
001474
001476
0C1500
001502
001504
001506
001510
001512
001514
001516
001522
001523

21-SEP-?77 09 22 PRGE 21

31-MAY-?77 09 80

001400

000000
000
000

000000

00C000

000000

000000
000
001

000000

000000

000000

000000

000000

000000

000000
000
000

000000

177570

1772570

177560

177562

177564

177566
000
002
012
000

000000

000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
177607

077

015

000377

COMMON TRGS
SBYTL COMMON TRGS

PR 3330033008330 02 3003330300083 03003300 330032000320 232302028020200 2281
. XTHIS TRBLE CONTAINS VARIOUS COMMON STORAGE LOCATICNS

- XUSED IN THE PROGRAM.

SCHTRG.
WORD
STSTNH. . BYTE
SERFLG: . BYTE
SICNT: . WORD
SLPRDR . HWORD
SLPERR: . WORD
SERTTL: . WORD
SITEMB: . BYTE
SERMAX: . BYTE
SERRPC . WORD
SGDADR: . WORD
SBDADR: . WORD
SGDODRT. . WORD
SBDDRT. . WORD
. WORD
WORD
SAUTOB. . BYTE
SINTARG .BYTE
WORD
SWR . WORD
DISPLAY  HORD
STKS 177560
$TK8 177562
STPS 177564
STPB 177566
SNULL BYTE
SFILLS .BYTE
SFILLC  BYTE
STPFLG  BYTE
SREGRD  WORD
SREGO HORD
SREGY1 . WORD
SREGZ. HORD
SREG3 WORD
SREGN. . WORD
SREGS . WORD
STHPO WORD
STHP1- WORD
STHP2 WORD
STHP3Z . WORD
STMP4Y . WORD
STMPS . WORD
STIMES O
SESCAPE O
SBELL ASCI2Z
SQUES ASCHI
SCRLF ARSCHI

00000000000~ 000D000000

o
172
z
-

DD ISP

N

000000000000 00—-NO

;;START OF COMMON TRGS

;; CONTRINS THE TEST NUMBER

;» CONTRINS ERROR FLRAG

;- CONTRINS SUBTEST ITERATION COUNT
;- CONTRINS SCOPE LOOP RDDRESS

;- CONTRINS SCOPE RETURN FOR ERRORS
;; CONTARINS TOTRL ERRORS DETECTED
;. CONTRINS ITEM CONTROL BYTE

;. CONTAINS MAX. ERRORS PER TEST

;. CONTRINS PC OF LRST ERROR INSTRUCTION
. » CONTRINS RDDRESS OF 'GOOD' DRTA
;» CONTAINS RODRESS OF 'BRD' DRTA
.. CONTARINS 'GOOD’ DRTR

., CONTRINS 'BRAD' DRTR

. »RESERVED--NOT TO BE USED

»»RUTOMATIC MODE INDICATOR
.+ INTERRUPT MODE INDICRTOR

.. ADDRESS OF SWITCH REGISTER

. » RADDRESS OF DISPLRY REGISTER

,. TTY KBD STATUS

.. TTY KBD BUFFER

;. TTY PRINTER STATUS REG ARDDRESS

.. TTY PRINTER BUFFER REG. RDORESS

. CONTAINS NULL CHRARRCTER FOR FILLS

.. CONTAINS # OF FILLER CHRRACTERS REQUIRED
++ INSERT FILL CHRRS. RFTER R "LINE FEED"
.. "TERMINAL RVAILABLE" FLAG (BIT<O?>=0=YES)
;» CONTRINS THE RDDRESS FROM

+:WHICH (SREGO) WAS OBTAINED

» - CONTRINS ((SREGRD)+0)

-+ CONTRINS ((SREGAD)+2)

. » CONTRINS C((SREGRD)+4)

»» CONTRINS ((SREGRD)+6)

.- CONTRINS ((SREGRD)+10)

» . CONTRINS ((SREGRD)+12)

»»USER DEF INED

.- USER DEF INED

.+ USER DEF INED

.. USER DEF INED

.. USER DEF INED

.. USER DEF INED

»»MAX. NUMBER OF ITERRTIONS

».ESCAPE ON ERROR RDDRESS

(207><377><377> ,,CODE FOR BELL

/Y
s

»» QUESTION HARK
.- CARRIAGE RETURN

SEQ 0019
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872
873
874
875
876
877
878
879
880
881
882
883
884
885
886
887
888
889
890
891
892
893
894
895
896
897
898
899
900
901
902
903
904
905
906
907
908
909
910
911
912
913
914
915
916
917
918
919
920
921
922
923
924
925
926
927

00152y

001526
001526
001530
001532
001534
001536
001540
001542
001544
001546
001546
001547
001550
001552
001554

001556
001557

001560

001562
001563
001564
001566
001567
001570
001572
001573
001574
001576
001600
001602
001604
001606
001610
001612
001614
001616
001620
001622
001624

31-MAY-77 09 SO

000012

000000
000000
000000
000000
000000
000000
000000
000000

000
000
000000
000000
00000

000
000

000000

000

000
000000

000

000
000000

000

000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000

21-SEP-?77 09 22 PRGE 22

COMMON TRGS

SLF .RSCIZ Q112> .»LINE FEED
PR3320 0300338833 03033033000883080089080080900090000003000¢0%94]
SBTTL APT MAILBOX-ETABLE

.E!Et!X!!l!X!tl!!t!tttt!ltt!t!!!!t!!!!!!!!t!!t!!!t!!!!!!!!!!!!!l!
VEN

SMRIL ;.APT MAILBOX

SMSGTY: . WORD  ANMSGTY ,;;MESSAGE TYPE CODE
SFRATAL. . WORD AFATAL .,FATAL ERROR NUMBER
STESTN: . WORD  ATESTN . TEST NUMBER

SPASS. . WORD APASS  ..PASS COUNT

SOEVCT- . WORD  ADEVCT ,,DEVICE COUNT

SUNIT: _WORD AUNIT ., 1/0 UNIT NUMBER
SMSGRD . WORD  AMSGRD .. MESSAGE RDOORESS
SMSGLG . WORD  AMSGLG .. MESSRAGE LENGTH
SETABLE. ,; APT ENVIRONMENT TRBLE
SENV: .BYTE  QAENV . ENVIRONMENT BYTE
SENVM BYTE  RAENYM . ENVIRONMENT MODE BITS
$SWREG- . WORD  ASWREG . APT SWITCH REGISTER
SUSKR . WORD  AUSHR ., USER SHITCHES

SCPUOP  WORD  ACPUOP ,.,CPU TYPE.OPTIONS

. BITS 15-11=CPU TYPE

11/70=06.PDQ=07. Q=10
817 10=RERL TIME CLOCK
B!T 9=FLORTING POINT PROCESSOR
81

. 0~ ~

~

T 8=MEMORY MANAGEMENT
AMS1 BYTE  AMAMSY ., HIGH RDDRESS.M. S. BYTE
T'P1  BYTE  ANMTYP1 ., MEM TYPE,BLK#1
MEM TYPE BYTE -- (HIGH BYTE)

900 NSEC CORE=001

300 NSEC BIPOLAR=002
) S00 NSEC M0S=003
SMADR1  WORD  AMADR1 ,,HIGH RDDRESS.,BLK#1

- ~ ~ wm\
A R K _JB=ud N_E_N_X_;

e MEM LAST ADDR. =3 BYTES. THIS WORD AND LOW OF "TYPE" RBOVE

$MAMS2 BYTE  AMAMS2 ., HIGH RDDRESS.M. S. BYTE

SMTYP2. . BYTE  AMTYPZ . ,MEM TYPE.,BLKS2

$MADR2: . WORD  AMADRZ ;:MEN LRAST RADDRESS.BLK%#2

$SMAMS3. . BYTE AMAMSY .. HIGH ADORESS.M. S. BYTE

SMTYP3: . BYTE  ANTYPI ;. MEM TYPE,BLK&3

SMADR3: . WORD AMADRI ., MEM. LAST RADDRESS,BLKK3

$MAMSY-  BYTE  AMAMSY . ;HIGH ADORESS.M. S. BYTE

SMTYPY: _BYTE  AMTYP4Y ,,MENM TYPE.BLK#&#Y4

SMADRY: . HORD  AMADRY .. MEN. LAST RDORESS.BLK#Y

SVECTE: _ WORD  AVECT1 ;. INTERRUPT VECTOR#1,BUS PRIORITY#1
SVECT2: . WORD AVECTZ .. INTERRUPT VECTOR®2BUS PRIORITY#R2Z
SBASE . WORD ABRSE  .,BASE ADDRESS OF EQUIPMENT UNDER TEST
SDEVM. . WORD ADEVH ., DEVICE MAP

SCOH1. . WORD ACDH1 .. CONTROLLER DESCRIPTION WORD#1
SCOW2 . WORD ACDWZ  ,.CONTROLLER DESCRIPTION WORD%2
SODWC . WORD  ADDHO . :DEVICE DESCRIPTOR WORD®0D

SODW1. . WORD ARDODWY  ,,DEVICE DESCRIPTOR WORD#1

SODW2. . WORD ADDWZ ..DEVICE DESCRIPTOR WORD®2

SODH3 WORD ADDW3  ;.DEVICE DESCRIPTOR WORD®3

SODWY WORD  RDOW4 . .DEVICE DESCRIPTOR WORDEY

SODWS WORD ADDKS . .DEVICE DESCRIPTOR WORD%S

11/04=01,11/05=02, 11/20=03. 11/40=04., 11/45=05

S€Q 0020




DZDUU-B MACY11 30(1046) 21-SEP-77 09 2Z PRGE 23

DzZobuug M11 31-MAY-77 09 50 APT MAILBOX-ETRBLE SEQ 0021
928 001626 000000 SODW6- . WORD RDDHe . DEVICE DESCRIPTOR WORD#6
929 Q401630 000000 $O0W?- . WORD RDDW?  ;.DEVICE DESCRIPTOR WORD&?
930 001632 000000 SOOW8: . WORD ADDW8 ;.DEVICE DESCRIPTOR WORD#S
931 001634 000000 SODW9: . WORD ADDW9  ;;DEVICE DESCRIPTOR HWORDA9
932 001636 000000 SODW10: . WORD  ROOWIO ;.DEVICE DESCRIPTOR WORD#10
933 001640 ’'000000 SOOW11: . HORD RDDH11 ;,DEVICE DESCRIPTOR WORD#11
934 001642 000000 SOOW12: . HORD ADDH12 ;.DEVICE DESCRIPTOR WORD#12
935 001644 000000 SDOW13 . WORD RDDWI3 ;.DEVICE DESCRIPTOR WORD#13
936 001646 (000000 SODW14: . WORD  ADDHi4 ,;DEVICE DESCRIPTOR WORD#iY
3§g 001650 000000 SODW15: . HORD  ADDW1S ;DEVICE DESCRIPTOR WORD®15
939
940 001652 SETEND
941
942

93
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Fuy

95

M6

w7

948

99 005746
950 005726
951 010046
952 012600
963 024646
954 022626
955

956

957 100000
958 040000
959 020000
960 010000
961 004000
962 002000
963 001000
964 000400
965 000200
966 000100
967 000040
968 000020
969 000010
970 000004
971 000002
972 000001
973

97y 100000
975 040000
976 020000
977 010000
978

979 001000
980 0oo400
981

082 030000
983 020000
98y 000000
985 000000
986 002000
987 004000
988 006000
989 000000
990 001000
991 001400
992

993 100000
994 040000
995 020000
996 002000
997 0oc400
998 000200

999 000100

21-SEP-?77 09 22 PRAGE 24
RPT MAILBOX-ETABLE

; INSTRUCTION DEF INITIONS

PUSHISP=5746 ;OECREMENT PROCESSOR STACK 1 WORD =TST -(SP)
POP1SP=5726 ; INCREMENT PROCESSOR STRCK 1 WORD =TST (SP)+
PUSHRO=10046 . SAVE RO ON STACK =MOV RO, -(SP)
POPRO=12600 ;RESTORE RO FROM STACK =MOV (SP)+.RO
PUSH2SP=24646 . DECREMENT STRCK TWICE =CHP -(SP), -(SP)
POP2SP=22626 ; INCREMENT STACK TWICE =CHP (SP)+, (SP)+
+REGISTER DEF INITIONS

RXCSR BIT DEFINITIONS

DSC=B1IT15 .DATA SET (HANGE
RING=BIT1N - RING
(TS=BiT13 .CLR TO SEND
CARDET=BIT12 .CARRIER DETECT
RECRCT=BIT11 REC RCTIVE
SRD=BIT10 - SEC REC DATA
DSR=BIT9 .DATA SET'RDY
STPSYN=BITS »STRIP SYNC
RXDONE=BIT? . REC DONE
RINTEN=BITGE ;REC INTR ENRBLE
DSINTE=BITS ;DSC INTR ENRBLE
SYNSCH=B I Ty » SYNC SEARCH
STD=BITJ ;SEC XMIT DATA
RTS=BI1T72 .REQ TO SEND
DTR=BIT1 .DRATA TERM RODY
voiD=BITO

+RXDBUF BIT DEF INITIONS
RXERR=B1T15 »REC ERROR
OVRRUN=BIT14 . OVERRUN
FRMERR=BIT13 . FRANE ERROR
PARER=BIT12 .PRARITY ERROR

.PAPCSR BIT DEFINITIONS
PAREN=BITY +PRRITY ENRBLE
EVPAR=BITS8 ,EVEN PRRITY SENSE

.PARCSR HRD DEFINITIONS
SYNINT=30000 »SYNC EXTERNAL MODE
SYNEXT=20000 » SYNC INTERNAL HODE
ISYMOD=0 » 1S0C MODE
FIVE=0 » HORD LENGTH 5 BITS
SX=2000 . HORD LENGTH 6 BITS
SEVEN=4000 ;HORD LENGTH 7 BITS
E1GHT=6000 »HORD LENGTH 8 BITS
NOPAR=0 »NO PRRITY
O0DDPRR=1000 00D PARITY
EVEPRR=1400 ,EVEN PRRITY

,TXCSR BIT DEFINITIONS
DNR=BI1T15 .DATA NOT AVAILABLE
MTDRTR=BIT1Y . HRINT DRTR
CLK=BIT13 . CLK
BITW=B1T10 »BIT HINDOW
HRESET=8I1T8 .MASTER RESET
TXDONE=BIT? » XM1T DONE
TXINTE=B1T6 »XMIT INTR ENRBLE

SeQ 0022
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DZOuLB M11 31-MAY-77 09 S0

1000 000040
1001 000020
1002 000010
1003 000001
1004

1005 000000
1006 004000
1007 010000

1008 014000

RPT MAILBOX-ETABLE

ONRINTE=BITS ;ONR INTR ENRB
SEND=BITY » SEND
HOXEN=BITJ s HDX/F DX
BREAK=BITO ; BREAK

;TXCSR HRD DEFINITIONS
USER=0 : USER MODE
MINT=4000 ;HRINT INT MODE
MEXT=10000 ;MAINT EXT MODE
SYSTST=14000 ; SYSTEM TEST MODE

SEQ 0023
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1009
1010
1011
1012
1013
1014
1015
1016
1017
1018
1019
1020
1021
1022
1023
1024
1025
1026
1027
1028
1029
1030
1031
1032
1033
1034
1035
1036
1037
1038
1039
1040
1041
1042
1043
1044
1045
1046
1047
1048
1049
1050
10561
1052
1053
* 054
1055
1056
1057

001652

001652
001654
001656
001660
001662
001664
001666
001670
001672
001674
001676
001700
001702
001704
001706
001710

001762
002067
002116
002132
002022
002067
002116
002132
002043
002067
002116
002132
001746
000000
002126
002132

160010
160011
160012
160013
160012
160013
160014
160015
160016
160017

000770
000772
000774
000776

001712
001714
001716
001720
001722
001724
001726
001730
001732
001734

001736
001740
001742
001744

31-MAY-77 09 &0

21-SEP-77 09 22 PRGE 26

ERROR POINTER TRBLE

SBYTL ERROR POINTER TRBLE

+BTHIS TRBLE CONTAINS THE
»XTHE INFORMATION IS OBTRINED BY USING THE

INFORMATION FOR ERCH ERROR THRT CAN OCCUR

INDEX NUMBER FOUND IN

. SLOCATION SITENB THIS NUMBER INDICATES WHICH ITEM IN THE TRBLE IS PERTINENT

- XNOTE{- IF SITEMB 1S O THE ONLY PERTINENT DRTR IS (SERRP(C)
- XNOTE2 ERCH ITENM IN THE TRABLE CONTRINS 4 POINTERS EXPLRINED RS FOLLOWS
X EN ;»POINTS TO THE ERROR MESSAGE
X DH .+POINTS TO THE DRTR HEADER
P ¢ o7 ..POINTS TOQ THE DRTA
. X OF »»POINTS TO THE DARTR FORMRT
SERRTSB
.ERROR TABLE
EM1 - ERROR 1 REGISTER ERROR
DH1
DT1
DF1
En2 .ERROR 2 RECE IVER ERROR
DH1
oT1
OF 1
En3 +ERROR 3 TRANSMITTER EFROR
DH1
0T
DF 1
Eny .ERROR W BIT ERPPIR (GENERAL)
v
DTy
DF 1
.DEFRAULT DU ADDRESSES
RXCSR 160010
HRXCSR 160011
RXDBUF 160012
HRXDBUF . 160013
PARCSR 160012
HPARCSR 160013
TXCSR 160014
HTXCSR- 160015
TXOBUF 160016
HTXDBUF 160017
,DEFRULT DU VECTORS
DURIV 770 +REC INTR VECTOR
DURIS- 772 ;REC INTR STRTUS
puriv. 774 »XMIT INTR VECTOR
ODUTiIS- 776 »XMIT INTR STATUS

1058
1059
1060
1061
1062
1063
1064

001746
001754
001762
001770
001776
002004

020040
020122
020040
051101
042440
047480

051105
041520
047503
051511
051122
020116

047522
000040
050115
047117
051117
042522

EMY
£Em

+ERROR HMESSAGES
.RSCIZ / ERROR PC /

RSC1Z 7/ COMPRARISON ERROR ON REGISTERS,

SEQ 0024
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DZ0UUB. M11

1065
1066
1067
1068
1069
1070
1071
1072
1073
1074
1075
1076
1077
1078
1079
1080
1081
1082
1083
1084
1085
1086
1087
1088
1089
1090
1091
1092
1093
1094
1095
1096
1097
1098
1099
1100
1101
1102
1103
1104
1105
1106
1107
1108
1109

[ e X ™Y
P N o o
[~ 3
o

002012
002020
002022
002030
002036
002043
002050
002056
002064

002067
002074
002102
002110

002116
002124

002126

002132
002135

000046
000052

000024
00004y

002136
002136
002140
002142
002144
002146

ke Y Kaker
Ve s JU

044507
00012:
020040
053111
051122

o040
051516
051105
051117

105
020040
042105
052524
002116

001416
000000

001416

000
000

002136
000046
012714
000052
000000
002136

002136
000024
000200
000044
002136
002136

000000
001526
000010
000010
000000
000052

21-SE®-7? 09
31-MAY-77 09: 50

052123

042522
051105
051117
052040
o44515
042480

000

051122
040527

020040
o4e101

001130

000000
000

051105

042503
w2440

000
040522
052124
051122

041520
052116
041501

000

001132

000

: 22 PRGE 27
ERROR POINTER TRBLE SEQ 0025
EM2. ASC1Z /7 RECEIVER ERROR/
EN3: .RASCIZ /7 TRANSHITTER ERROR/
.DATA HERDERS FOR ERROR MESSAGES
OH1. RSCIZ /ERRPC HANTED RCTURL/
. EVEN
.DRTA TABLES FOR ERROR MESSAGES
DT1: HORD  SERRPC, HLDO.HLD1.O
DTy HORD  SERRPC. O
DF 1 BYTe 0.0.0.0
EVEN

SBTTL ACTi1 HOOKS

PR $$3303030033000000000008 8303000030000 00002000020 0030222800228 ¢04¢
.HOOKS REQUIRED BY ACT11

$SVP(C=. » SRVE P(
=46

SENDRD .- 1)SET LOC 46 TO RDDRESS OF SENDRD IN SEOP
=52

.HORD O ,+»2)SET LOC 52 TO ZERO

. =$SVP( .. RESTORE P(C

SBTTL APT PRRAMETER BLOCK

P 3390002000 33303 0032338003322 000032000220002303200022200 022000090481
,SET LOCATIONS 24 AND 44 HS REQUIRED FOR APT
AP $ 3200093000030 3303020003 3008830003202 200030000000000000 20022828
. $X= ;;SAVE CURRENT LOCATION
=24 ;. SET POWER FAIL TO POINT TO START Of PROGRAH
200 ,.FOR RAPT START UP
=4y ;;POINT TO APT INDIRECT AODRESS PNTR
SAPTHOR ;,POINT TO RPT HERDER BLOCK
=. 8% .,RESET LOCRTION COUNTER
PR $$ 9320333983320 03300220022802020030002200220302002322022002229
.SETUP APT PRRAMETER BLOCK RS DEF INED IN THE RPT-PDP11 DIRGNOSTIC
» INTERFRCE SPEC

$AP THD

SHIBTS . HORD O ;»THO HIGH BITS OF 18 BIT MAILBOX RDDR

SMBADR: . WORD  SMAIL ., .ADDRESS OF APT MAILBOX (B!TS 0-15)

$STSTH HORD 10 ,RUN TIM OF LONGEST TEST

SPASTM  HORD 10 .. RUN TIME IN SECS OF 1ST PRSS ON 1 LNIT (QUICK VERIFY)

SUNITM  HORD ,,ADDITIONAL RUN TIME (SECS) OF R PASS FOR ERCH RDDITIONAL UNITY

WORD  SETEND-SMRIL/2Z ,.,LENGTH MARILBOX-ETABLE (WORDS)
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DZOuUB. M1t 31-MAY-?7 09: 50 APT PARAMETER BLOCK SEQ 0026
1121
1122
1123 ;PROGRAM INITIRL12RTION
112 ;LOCK QUT INTERRUPTS
1125 ;SET UP PROCESSOR STRCK
1126 »SET UP POWER FRIL VECTOR
1127 ;CLERR PROGRAM CONTROL FLRGS AND COUNTS
}}%g ‘ ;TYPE TITLE MESSAGE
1130 002152 . START
1131 .SBTTL INITIALIZE THE COMMON TAGS
1132 ;:,CLERR THE COMMON TRGS (SCMTAG) RRER
1133 002152 012706 001400 MoV #$CNMTAG, Re ;sFIRST LOCRTION TO BE CLERRED
11347 002156 005026 (LR (R6)+ ;. CLERR MEMORY LOCATION
1135 002160 022706 001440 ne #SHR. R6 .. DONE?
1136 002164 001374 BNE ) :.LOOP BACK IF NO
1137 002166 012706 001100 MOV RESTARCK, SP »+»SETUP THE STACK POINTER
1138 s INITIRLIZE A FEH VECTORS
1139 062172 012737 016340 000020 MoV #$SCOPE, 98 10TVEC .. 10T VECTOR FOR SCOPE ROUTINE
1140 002200 012737 000340 000022 MOV %340, 98 10TVEC+2 ;. LEVEL 7
1141 002206 012737 014230 000030 MOV #SERROR, @8ENTVEC ; EMT VECTOR FOR ERROR ROUTINE
1142 002214 012737 000340 000032 MoV #340, QEENTVEC+2 ; LEVEL 7
1143 002222 012737 016674 000034 MOV #STRAP, a8 TRAPVEC ;. TRAP VECTOR FOR TRAP CALLS
1144 002230 012737 000340 000036 MoV %340, ¢ TRAPVEC+2. LEVEL 7
1146 002236 012737 015032 000024 MOV RSPLRDN, @#PHRVEC ., POWER FRILURE VECTOR
1146 002244 012737 00C340 000026 MOV %340, JEPURVEC+2Z ; LEVEL 7
1147 002252 005067 17723y CLR STINES ;+ INITIALIZE NUMBER OF |TERATIONS
1148 002256 005067 177232 CLR SESCAPE ;- CLERR THE ESCAPE ON ERROR RDDRESS
1149 002262 112767 000001 177125 Move %1, SERMAX :»ALLOW ONE ERROR PER TEST
1150 002270 012767 002270 177110 MoV &. . SLPRDR +;INITIALIZE THE LOOP RDDRESS FOR SCOPE
1151 002276 012767 002276 177104 MOV &. . SLPERR »+ SETUP THE ERROR LOOP RDORESS
1162 »»SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
1163 ;.EQUAL TO R "-1", SETUP FOR A SOFTHRRE SWITCH REGISTER.
1154 002304 013746 000004 MOV SSERRVEC, -(SP) ;,SAVE ERROR VECTOR
1166 002310 012737 002344 000004 MOV #64S, JEERRVEC ., SET UP ERROR VECTOR
1156 002316 012767 177570 177114 MOV #DSHR, SHR ;;SETUP FOR A HARDWARE SHICH REGISTER
1167 002324 012767 177570 177110 MOV %#0D1SP,DISPLRAY ;,AND R HRARDWARE DISPLAY REGISTER
1168 002332 022777 177777 177100 CHP #-1. JSHR ;- TRY TO REFERENCE HARDWARE SUR
11569 002340 001012 BNE 669% +-BRANCH IF NO TIMEOUT TRAP OCCURRED
1160 .»AND THE HARDWARE SHR IS NOT = -1
1161 002342 000403 BR 659 .. BRANCH [F NO TIMEOUT
1162 002344 012716 002352 64$ MOV %659, (SP) .. SET UP FOR TRAP RETURN
1163 002350 000002 RTI
1164 002352 012767 000176 177060 659 MOV #SHREG, SKR +;POINT TO SOFTHARE SHR
1165 002360 012767 000174 177054 MOV $DISPREG. DISPLAY
1166 002366 012637 000004 669% MOV (SP)+, SERRVEC ., RESTORE ERROR VECTOR
1167
1168 002372 005067 177136 CLR $PRSS +» CLEAR PRASS COQUNT
1169 002376 132767 000200 177143 BITB SAPTSIZE, SENVN . TEST USER SI12E UNDER RPT
1170 002404 001403 BEQ 679 .. YES, USE NON-RFT SWITCH
1171 002406 012767 001550 177024 MOV £§SSHREG, SHR +NO,USE RAPT SWITCH REGISTER
1172 002414 6’S
1173 00241 012706 001100 NOV #STACK, SP .SET STARCK
1174 002420 106427 000340 MTPS #340 .LOCK INTERRUPTS
1176 002v2% 012737 015032 000024 MoV § PFRIL. 9324 .SET UP POMWER FR L VECTOR

1176 002432 105067 176535 CLRB STFLG . CLERR START FLAG
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1177
1178
1179
1180
1181
1182
1183
1184
1185
1186
1187
1188
1189
1190
1191
1192
1193
1194
1195
1196
1197
1198
1199
1200
1201
1202
1203
1204
1205
1206
1207
1208
1209
1210
1211
1212
1213
1214
1215
1216
1217
1218
1219
1220
1221
1222
1223
1224
1225
1226
1227
1228
1229
1230
1231
1232

002436
002442
002446
002452
002456
00246M

002472
002476
002502
002510
002514
002516
002524
002532
002534
002540
002544
002552
002554
002560
002562
002566
002572
002576
002600
002604
002610
002614
002616
002624
002626
002632
002636
002644
002646
002652
002656
002662
002666
002670
002672
002674
002676
002702
002704
002706
002710
002712
002714
002716
002720
002721
002722
002730
002734

31-MRY-?7

005067
105067
005067
005067
012767
012767

013746
013746
012737
005777
000407
012767
012767
022626
012637
012637
022767
001007
005737
001402
000167
004767
105767
001004
104401
105167
105767
001410
032767
001002
105067
000167
032777
001002
000167
012700
012701
012702
010110
005011
060200
060201
022701
002771
104406
015240
104410
160000
167776
017170

001

001
016767
004767
016767

21-SEP-77 09:

09: 50

176450
176735
176740
176740
000001
002152

000006
000004
002515
176724

000176
000174

000004
0000Cs
000176

000042

000522
010224
176374

01E172
176362
176732

000001

176321
000452
000001

0004 36
000300
000302
000004

001000

014242
014102
176216

000004
176714
176710

176666

176726

176574

176226
176212

22 PRGE 29

B8 3

INITIRLIZE THE COMMON TRGS

CLR
CLRE
CLR
CLR
MOV
MOV

MOV
MOV
MOV
TST
8R
15 MOV
MOV
CHP
2§ MOV
MOV
CHP
BNE
TST
BEQ
JHP
338 JSR
35 TSTB
BNE
TYPE
COMB
TSTB
BEQ
BIT
BNE
CLRR
129 JMP |
11§ BIT
BNE
JHP
15 MOV
MOV
MOV
2§ MOV
(LR
ADD
ADD
CHP
BLT
INSTR
MREGRD
PARAN
160000
167776
DUBRSE
BYTE 1
BYTE 1
MOV
JSR
MOV

ONCE

PRSCNT

SERFLG

SERTTL

SERRPC

%1, $TSTNN

#. START, RETURN

of6, - (SP)
a.‘h -(SP)
118, 9%y
eSKR
2%
RSUREG. SHR
#DISPREG. D1SPLAY
(SP)+, (SP)+
(SP)+, oM
(SP)+, 986
RSWREG. SHR
39
MLLY:
338
. BEGIN
PC., CNTLU
INIFLG
ONCE
+HTITLE
INIFLG
SENV
118
#1. SUSKHR
129
JHRBY
BEGIN
#SHO0, SHR
19
BEGIN

; CLEAR PASS COUNT

;CLEAR ERROR FLRG

;CLEAR ERROR COUNT

»CLERR LRST ERROR POINTER
SET UP FOR TEST 1

»SET UP FOR POWER FRIL BEFORE
; TESTING STARTS

,CHECK FOR CHRIN

+HAS INITIALIZATION BEEN PERFORMED

. TYPE TITLE MESSAGE
., IF NOT SET FLAG AND DO

»APT CONTROL?
.BR IF NO
EXTENAL JUMPER ON?

.CLERR FLRG
GO DO IT
»RESELECT VECTOR & CONTROL REG?

#300.R0 . RESTORE VECTOR RARER TO TRAPCATCHER
#302.R1 . STRART RT LOCATION 300

#4,.R2
R1. (RO)
(R1)
RZ.R0
RZ,R1
$1000. R1

»END RT LOCATION 776

2%
;OUTPUT MESSAGE & GET INPUT STRING

. MESSAGE

; CONVERT STRING
+LOHW LINMIT
;HIGH LINITY

;STORE AT THIS LOCATION

; NASK

;HOH MANY TINES + 2

DUBASE . KEEPRDD
PC. DURDDR

KEEPRDD, BASEADD . RESTORE FOR ROTARTION

SEQ 0027
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DZDUUB M11 31-MAY-?77 09 S0 INITIRLIZE THE COMMON TRGS SEQ 0028
1233 002742 104406 INSTR  ;OUTPUT MESSRGE & GET INPUT STRING
1234 00274% 015225 MVECTO . MESSAGE
1235 002746 104410 PRARAM  ; CONVERT STRING
1236 002?50 000300 300 JLOW LMY
1237 002752 000776 776 HIGH LINIT
1238 002?54 001736 OURIV  ,STORE AT THIS LOCATION
1239 002756 001 BYTE ; MRSK
1240 002757 oou .BYTE & ;HOW MANY TIMES + 2
1241 002760 016767 176752 176176 MOV DUR IV, KEEP IV . SAVE
1242 002766 016767 176744 176166 Hov DURIV, BRSE 1V ;SET UP FOR ROTRTION
1243 002?724 104406 INSTR  ;OUTPUT MESSRGE & GET INPUT STRING
12484 002776 015270 MHMULT  ; HESSAGE
1245 003000 10441y SETFLG .SET FLAG BASED UPON INPUT STRING
1246 003002 001152 MULTD . THIS FLRG
1247 003004 105767 176142 TST8 HULTD . RRE THERE MULTIPLE OEVICES
1248 .ON THE SYSTEM ?
1249 003010 100406 BM| LT . YES.ASK NEXT QUESTION
1260 003012 005067 176150 CLR ACTREG
1251 003016 005067 176146 CLR ROTRDD
1252 003022 000167 000140 JHP OUTMUL ; JUMP RROUND NEXT QUESTION
1253 003026 12
1254 003026 104406 INSTR  ;OUTPUT MESSRGE & GET INPUT STRING
1265 003030 015317 MLASTD . MESSAGE
1266 003032 104410 PARARM . CONVERT STRING
1257 003034 160000 160000 LOW LINIT
1268 003036 167776 167776 .HIGH LIMIT
1269 003040 001160 LASTADD ;STORE AT THIS LOCATION
1260 003042 001 BYTE 1 ; MASK
1261 003043 001 .8YTE 1 ;HOW MANY TIMES + 2
1262 ;THE FOLLOWING ROUTINE SETS UP RCTREG FOR THE FIRST TIME
1263 003044 012767 000001 176116 1§ MOV #1,ROTADD ;SET UP POINTER
1264 003052 005067 176110 CLR ACTREG .CLR ACTIVE REGISTER
1265 003056 056767 176106 176102 2§ BIS ROTADD, ACTREG MAKE THIS DEVICE RACTIVE
1266 003064 000241 CLC
1267 003066 006167 176076 ROL ROTADD . SEY UP POINTER
1268 003072 103421 BCS 39 ;ARE YOU OUT OF RANGE ?
1269 003074 062767 000010 176052 ROD %10, BASEADD ;SET UP BASE RDDRESS
1270 003102 026767 176052 176044 CHP LASTADD, BASEADD 1S THIS THE LRST DEVICE ?
1271 003110 101362 BHI 29 ;NO DO IT RGAIN
1272 003112 056767 176052 176046 BIS ROTADD. ACTREG . THIS RASSUMES THAT THERE ARE AT
1273 ;LEAST THO DEVICES WHEN YOU RANSWER YES TO
1274 ;MULTIPLE DEVICE QUESTION
1276 003120 012767 000001 176042 u4$ MOV #1.ROTADD ;SET UP FOR LATER USE IN END OF PRSS ROUTINE
1276 003126 016767 176024 176020 MOV KEEPRDD, BASERDD .DITTO
1277 003134 000414 BR OUTHUL , CONTINUE QUESTIONS
1278 003136 016767 176014 176010 39 MOV KEEPADD., BASEADD . RESTORE
1279 003144 104406 INSTR S OUTPUT MESSRGE & GET INPUT STRING
1280 003146 015413 MRANGE . MESSAGE
1281 003150 104410 PARAM  ; CONVERT STRING
1282 003152 160000 160000 :LOW LIMIT
1283 003154 167776 167776 HIGH LIMIY
1284 003156 001160 LASTADD ., STORE AT THIS LOCATION
1285 003160 001 BYTE 1 - MASK
1286 003161 001 .BYTE 1 ; HOW MANY TIMES + 2
1287 003162 000167 177656 JHP 19 .D0 1T RGRIN

1288 003166 012767 000340 013636 OUTMUL MOV %340, DUPRT
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1289 003174 00u4767
1290

1291

1292

1293

1294 003200

1295 003200 104406
1296 003202 015631
1297 003204 122767
1298 003212 001003
1299 003214 105067
1300 003220 000412
1301 003222 122767
1302 003230 001004
1303 003232 112767
1304 003240 000402
1305 003242 104407
1306 003244 000757
1307 003246 000240
1308 003250 104406
1309 003252 015677
1310 00325% 10uM1Y
1311 003256 001147
1312 003260 104406
1313 003262 015750
1314 003264 104414
1315 003266 001150
1316 003270 104406
1317 003272 016020
1318 003274 104414
1319 003276 001151
1320 003300 104406
1321 003302 016077
1322 003304 10441y
1323 003306 001153
1324

1325

1326

1327 003310 012706
1328 003314 106427
1329 003320 032777
1330 003326 001413
1331 003330 104406
1332 003332 015563
1333 003334 104410
1334 003336 003374
1335 003340 017500
1336 003342 001402
1337 003344 001
1338 003345 001
1339 003346 016767
1340 003354 000403
1341 003356 012767
1342 003364 104401
1343 003370 000177
134y

0D 3

21-SEP-77 09:22 PAGE 31
INITIRLIZ2E THE COMMON TAGS

09 S0
013562

000061
175726
000062
1772227

001100
000340
000002

176030

003374
015557
175510

RAR

012760 39

012742 19
175706
29
4s

BEGIN
176112

BYTE
BYTE
175530

176520 39
4s

JSR PC.,OULEVY

; COMPARE THE FIRST (HARACTER IN THE TELETYPE INPUT
+BUFFER TO THE CHRRACTERS "1" AND "2"

. |F THE CHARACTER IS "1" CLERR THE FLAG

+IF THE CHARACTER IS "2" SET THE FLRG

INSTR  ;CUTPUT MESSRGE & GET INPUT STRING
MSYNC  ;MESSAGE

CMPB §'1, INBUF ST "t ?
BNE 19

CLRB SYNCNO ;000

BR 4s$

CHPB #'2, INBUF SIS 1T "2t ?
BNE 29

MOVB #-1, SYNCNO . 377

BR 4$

INSTER ., RETRY

BR 39

NOP

INSTR  ; OUTPUT MESSAGE & GET INPUT STRING
MWIREE  MESSAGE

SETFLG ,SET FLAG BRASED UPON INPUT STRING

SEXMIT ., THIS FLRG

INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
MWIRES ;MESSRGE

SETFLG . SET FLAG BASED UPON INPUT STRING

SEREC  ,THIS FLRG

INSTR . OUTPUT MESSAGE & GET INPUT STRING
MWUIRE4Y , MESSAGE

SETFLG ,SET FLAG BASED UPON INPUT STRING

OPTCLR ;THIS FLRG

INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
MEXTS  ;MESSAGE

SETFLG . SET FLAG BRSED UPON INPUT STRING

JMRBY . THIS FLRAG

. TEST START AND RESTART

MOV #STACK, SP .SET UP STRCK

MTPS %340 .LOCK QUT INTERRUPTS

BIT #SHO1, SSHR »IF SHC1=1., GET STRRTING PC
BEQ 39

INSTR  , QUTPUT MESSAGE & GET INPUT STRING
MTSTPC . MESSAGE

PARAM  ; CONVERT STRING

TST1 JLOW LIMIT

17600 HIGH LIMIT

STSTNM . STORE AT THIS LOCATION

1 . MASK

1 ;HOW MANY TIMES + 2

MOV STSTNM. RETURN

BR 4s

MOV $7ST1, RETURN ,START AT TEST 1
TYPE MR ,TYPE R

JMP ORETURN ,START TESTING

SEQ 0029
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1345

1346

1347

1348

1349

1350

1351

1352

1353

1354 0033?% 0CO004
1356 003376 062777
1356 003404 012777
1367 003412 052777
1358

1359

1360

1361 003420 012777
1362

1363

13y 003426 012777
1365 003434 016703
1366 003440 112777
1367 003446 012767
1368 003454 012767
1369

1370 003462 052777
1371 003470 042777
1372 003476 005000
1373 003500 006067
1374 003504 103002
1375 003506 052700
1376 003512

1377 003512 052777
1378 003520 042777
1379 003520 017701
1380 003532 042?01
1381 003536 020001
1382 003540 001401
1383 003542 104003
1384

1386 003544 005367
1386 003550 001352
1387

1388 003552 052777
1389 003560 012700
1390 003564 017701
1391 003570 082701
1392 003574 020001
1393 003576 001401
1394 003600 104003
1395

1396

1397

1398

1399

1400

E 3
21-SEP-77 09 22 PRGE 32
09 50 INITIALIZE THE COMMON TRGS

»s THIS TEST VERIFYS CHARRCTER PLUS PRRITY GENERATION
.. 0F THE TRANSMITTER SECTION

;+ 1T ALSO CHECKS DNR TIMING

.. MODE: 1SYHOD

;- LENGTH: SEVEN PLUS PRRITY

;;PRRITY: EVEPRR

: CHARACTER: 125

;,!X!!!!i&!!!lt!!!ttl!!!t!!!!X!!t!t!l!tt!!t!!!!t!l!tlt!tt!!t!tttl

TST1 SCOPE
000400 176322 BIS SMRESET. @TX(SR ,MASTER RESET
000000 176310 Hov #1SYMOD. 9PARCSR ., SET THE MOOE
000400 176306 BIS #HRESET. dTXCSR . MRSTER RESET

»SET MAINTENANCE MODE & SEND
;NOTE BIT WINDOHWRCLK RRE CLERARED (MTDATA=0)
004020 176300 MOV AMINT!SEND, 9TXCSR

. SET MOOE.#® OF BITS,PRARITY SENSE.& LORAD SYNC REG

005426 176266 MOV $1SYMOD'SEVEN'EVEPRAR ' 26, oPARCSR
176266 MOV TXCSR.R3 .SET UP FOR ERROR MSG
000125 176264 MOVB #125, sTXDBUF .LORD DATA CHAR
001252 176024 MOV #1252, $THP1 .70 BE SHIFTED CHRR
000012 175440 MOV #$10. . SHIFY .8 OF SHIFTS
,POKE CLK TO GET INTO SYNCRONIZRTION
020000 176236 BIS $CLK, OTXCSR ,POKE CLK UP
020000 176230 BIC #CLK, 9TXCSR ,POKE CLK DOHWN
19 CLR RO
176774 ROR STHP1 .FORCE CRRRY
BCC 28 ,BR IF CRARRY CLR
002000 BIS #BITW. RO LEQUIV OF BITW
29
020000 176206 B!S $CLK, TXCSR .POKE CLK UP
020000 176200 BIC $CLK, 9TXCSR ,POKE CLK DOUWN
176174 MOV STXCSR. R1 .ACTUARL
075777 BiC #075777.R1 ,SRVE BITW & DNA
CMP RO, R1 . COMPRARE EXP VS A(T
BEQ .Y
ERROR 3 ,BIT WINDOW DID NOT MATCH ACTUARL DRTAR
.BIT, ALSO CHECK DNR
176352 DEC SHIFT .8 OF SHIFTS
BNE 1§ ,00 1T RGRIN ?
,NOW POKE CLK TO SEE ONA
020000 176146 BIS $CLK, 9TXCSR .POKE (LK
000000 MOV $0.RO0 ,EXPECTED
176136 MOV oTXCSR. R1 . RCTUARL
Q77777 BIC 877777.R1 . SAVE DNR ONLY
CMP RO. R1 . COMPRRE EXP VS R(T
BEQ +4
£RROR 3 .DNR SHOULD BE SET

. \F DNR DID NOT SET
»CHECK WORD LENGTH SELECT LOGtC

.. THIS TEST VERIFYS CHRARACTER PLUS PRARITY GENERRTION
,»OF THE TRANSMITTER SECTION
.. IT ALSO CHECKS DNR TIMING

SEQ 0030




DZ0UU-B MACY11 30(1046)
DZOuuB M11

1401

1402

1403

1404

1405

1406

1407 003602 000004
1408 003604 052777
1409 003612 012777
1410 003620 052777
1411

1412

1413

1414 003626 012777
1415

1416

1417 003634 012?777
1418 003642 016703
1419 003646 112777
1420 003654 012767
1421 003662 012787
1422

1423 003670 052777
1424 003676 042?777
1425 003704 005000
1426 003706 006067
1427 003712 103002
1428 003714 052700
1429 003720

1430 003720 062777
1431 003726 0Qu42777
1432 003734 017701
1433 003740 082701
1434 003744 020001
1435 003746 001401
1436 003750 104003
1437

1438 003?52 005367
1439 003756 001352
1440

1441 003760 052777
1442 003766 012700
1443 003772 017701
1444 003?76 042701
1446 004002 020001
1446 004004 001401
1447 004006 104003
1448

1449

1450

14561

1452

1453

1454

1455

1456

21-SEP-77 09

31-MAY-77 09.50

000400
000000
000409

004020

005026
176060
000125
001652
000012

020000
020000

17£566
002000

020000
020000
175766
075777

175144

020000
000000
175730
Q727727

176114
176102
176100

176072

176060
176056
175616
175232

176030
176022

176000
175772

175740

F 3
22 PAGE 33
INITIARLIZE THE COMMON TRGS

;;MOOE. 1SYNOD

;» LENGTH: SEVEN PLUS PRRITY
.+ PRRITY: ODOPAR

;> CHRRACTER: 125

}§¥;xxxxé%z;;xxxxtxzxxxxxxxxtxxxxxxxxxxxxxxxxxxxxxrxzxxxxxxx:xxxx
BIS AMRESET, 3TXCSR ; MASTER RESET
MOV % 1SYMOD, 9PARCSR . SET THE MODE
BIS #MRESET, aTXCSR . MRSTER RESET

»SET MRINTENRANCE MODE & SEND
»NOTE: BIT WINDOWLCLK RRE CLERRED (MTDRTAR=0)
MOV HMINT!SEND, 9TXCSR

;SET MODE.# OF BITS.PRARITY SENSE.& LORD SYNC REG
MOV % ISYHOD ! SEVEN'ODDPAR ! 26, SPARCSR
MOV TXCSR,R3 ;SET UP FOR ERROR MSG
MOVB %125, aTXDBUF :LORD DATA CHAR
MOV #1652, $THP1 ;70 BE SHIFTED CHARR
MOV %10 . SHIFT ;% OF SHIFTS

,POKE CLK TO GET INTO SYNCRONIZATION
BIS 8CLK, 9TXCSR .POKE CLK UP

BIC $CLK, 9TXCSR ;POKE CLK DOWN
1§ CLR RO

ROR $STHP1 ;FORCE CRRRY

BCC 28 .BR IF CRARRY CLR

BIS $81TW, RO LEQUIV OF BITW
28

BIS $CLK, @TXCSR ,POKE CLK UP

BIC $CLK, 9TXCSR ;POKE CLK DOWN

MOV OoTXCSR. R1 . ACTUAL

BiIC $075777.R1 ;SRVE BITW & DNA

cMP RO.R1 ; COMPARE EXP VS ACT

BEG +4

ERROR 3 ,BI1T WINDOW DID NOT MATCH ACTURL DRTRA

,BIT, RLSO CHECK DNR

DEC SHIFT ,& OF SHIFTS

BNE 1S .00 IT AGRIN ?
.NOW POKE CLK TO SEE DNA

BIS $CLK, 9TXCSR ,POKE CLK

MOV $0.R0 ,EXPECTED

MOV eTXCSR. R1 - RCTURL

BIC $7277277.R1 »SAVE DNA ONLY

CMP RO, R\ ., COMPRARE EXP VS AC(CT

BEQ +4

ERROR 3 »,DNR SHOULD BE SET

.\F ONR DID NOT SET
. CHECK WORD LENGTH SELECT LOGIC

.. THIS TEST VERIFYS CHRARACTER PLUS PRARITY GENERATION
,.OF THE TRANSMITTER SECTION

, 1T ALSO CHECKS DNR TIMING

.. MODE SYNINT

».LENGTH EIGHY PLUS PARITY

,.PARITY EVEPAR

SEQ 0031




DZDUU-8 MACY11 30(10M6)

DZDuUB

1457
1458
1459
1460
1461
1462
1463
1464
1465
1466
1467
1468
1469
1470
ILYA!
1472
1473
1474
1475
1476
1477
1478
1479
1480
1481
1482
1483
1484
1485
1486
1487
1488
1489
1490
1491
1492
1493
1494
1495
1496
1497
1498
1499
1500
1501
1502
1503
1504
1605
1506
15607
1508
1609
1510
1611
1512

M1

004010
004012
004020
004026

00403y

oo40u42
004050
004054
004062
004070

004076
004104
004112
O0411M
004120
004122
004126
004126
00413y
004142
004146
004152
004154
004156

004160
oo416M4

004166
004174
004200
004204
004210
004212
004214

000004
052777
012777
052777

012777

012777
016703
112777
012767
012767

0527727
Q42777
005000
006067
103002
052700

052777
Q42777
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

21-SEP-77 09
31-MRY-77 09 50

000400
030000
0oao400

004020

037426
175652
000125
000125
000011

020000
020000

175360
002000

020u00
020000
175560
0?5277

174736

020000
100000
175622
Q77777

175706
175674
175672

175664

175652
175650
175410
175024

175622
175614

175572
175564

175532

G 3
: 22 PAGE 34
INITIALIZE THE COMMON TRGS

,:.:(HRRRCTER: 125

%§¥;!!!!gég;:!!ltl!!!!!tt!!ttttt!!ttt!!ttl!!!t!!t!!tt!!!tttt!tttt
‘ B1S SMRESET, 9TXCSR ,MASTER RESET
MOV ASYNINT, 9PARCSR . SET THE MODE
BIS #MRESET, 9TXCSR ;MRSTER RESET

;SET MAINTENANCE MODE & SEND
»NOTE: BIT WINDOWRCLK ARE CLERRED (MTDATR=0)
MoV RMINT!SEND, 9TXCSR

.SET MODE.# OF BITS.PARITY SENSE,8 LOAD SYNC REG
MOV ASYNINT!'EIGHT'EVEPAR ! 26, JPRRCSR
MOV TXCSR. R3 ;SET UP FOR ERROR MSG

Move %125, 9 TXDBUF .LORD DATA CHAR
MOV %125, $THP1 :TO BE SHIFTED CHAR
MOV R9 . SHIFT . & OF SHIFTS
,POKE CLK TO GET INTO SYNCRONIZATION
BIS #CLK, dTXCSR ;POKE CLK UP
BiC RCLK, 9TXCSR ;POKE CLK DOWN
19 CLR RO
ROR $TMP1  ;FORCE CRRRY
BCC 2% ;BR IF CARRY CLR
BIS %BITH. RO ;EQUIV OF BITH
29
BIS #CLK, 9TXCSR ;POKE CLK UP
BiC #CLK, 9TXCSR .POKE CLK DOUN
MOV dTXCSR, R1 ; ACTUAL
BIC #075777. R\ .SAVE BITW & DNR
CHP RO.R1  ;COMPARE EXP VS ACT
BEQ +4
ERROR 3 .BI1T WINDOW DID NOT MATCH RCTURL DRTR
.BIT,. _ALSO CHECK DNR
DEC SHIFT .% OF SHIFTS
BNE 19 .00 IT RGAIN ?
»NOH POKE CLK TO SEE DNA
BIS RCLK., 9TXCSR -POKE CLK
MOV #100000, RO »EXPECTED
MOV JTXCSR, R1 ; ACTURL
BIC 87772727.R1 ;SAVE DNR ONLY
e RO, R1 . COMPRRE EXP VS RCT
BEQ .Y
ERROR 3 .DNR SHOULD BE SET

.1F DNR DID NOT SET
»CHECK WORD LENGTH SELECT LOGIC

,»THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
»,OF THE TRANSHITTER SECTION.

.| T ALSO CHECKS DNR TIMING

.+ MODE: SYNINY

»» LENGTH: EIGHT PLUS PRRITY

»»PRARITY ODDPAR

., CHARACTER- 125

,,Xltiltiil!!!t!l!!t!!!t!!tt!!!!ltttt!!!tt!t!!ttt!!!tttXttt!ttt!!

SEQ 0032




DZDUU-B MACY11 3J0(1046)
DzZDuuB M1l 31-MRY-?77

1513 004216 000004
1514 004220 052777
1616 004226 012777
15616 004234 052777
1617

1518

1519

1520 004242 012777
1521

1622

1523 004250 012777
1524 004256 016703
1625 004262 112777
1526 004270 012767
1627 004276 012767
1528

1629 004304 0527?77
1630 004312 042777
1631 004320 005000
1632 004322 006067
1633 004326 103002
1534 004330 052700
1635 004334

1636 004334 062777
1637 004342 042777
1638 004350 017701
15639 004354 042701
1540 004360 020001
1541 004362 001401
1642 004364 104003
1543

1544 004366 005367
1545 004372 001352
1546

1547 004374 062777
1548 004402 012700
1549 004406 017701
1650 004412 042701
15561 004416 020001
1652 004420 001401
1663 004422 104003
1554

1565

1556

1567

1558

1559

1560

1561

1562

1663

1564

1565

1566 00442% 000004
1567 00uw426 052777
1568 004434 012777

21-SEP-7?7 09
09: 50

000400 175500
030000 175466
000400 175464

004020 175456

037026 175444
17544y

000125 175442
000525 175202
000011 174616

020000 175414
020000 175406

175162
002000

020000 175364
020000 175356
17€352
Q75777

174530

020000 175324
100000
175314
Q772777

000400 175272
000000 175260

H 3
- 22 PRGE 35
INITIARLIZE THE COMMON TAGS

TSTy: SCOPE
8IS WHRESET, 9TXCSR /MASTER RESET
MOV #SYNINT, QPARCSR SET THE MODE
BIS WHRESET, @TXCSR ;MASTER RESET

;SET MRINTENRANCE MODE & SENO
+NOTE: BIT WINDOWLCLK RRE CLERRED (MTDATAR=0)
MOV #MINT!SEND, 9TXCSR

»SET MODE.# OF BITS,PRARITY SENSE.8 LORD SYNC REG
MOV SSYNINT!EIGHT 'ODDPAR ! 26. SPARCSR
MOV TXCSR,R3 ;SET UP FOR ERROR MSG
Move #125, TXDBUF ;LOAD DATA CHAR
MOV %525, $THPY ;TO BE SHIFTED CHAR
MOV #9. . SHIFT ;8 OF SHIFTS

+POKE CLK TO GET INTO SYNCRONIZRTION
BIS #CLK, 9TXCSR ,POKE CLK UP

BiC #CLK, 9TXCSR .POKE CLK DOWN
19 CLR RO
ROR $TMP1  ;FORCE CARRY

BCC 29
BIS #81TH. RO

BIS RCLK. 9TXCSR

.BR IF CARRY CLR
+EQUIV OF BITW

;POKE CLK UP

29

BIC $CLK, 9TXCSR ,POKE CLK DOWN

MOV oTXCSR, R1 . RACTUARL

BIC $076777.R1 ,SAVE BITW & DNA

CHP RO.R1 , COMPRRE EXP VS A(CT

BEQ +4

ERROR 3 ;BIT WINDOW DID NOT MATCH RCTURL DRTR
;BIT,. .. ALSO CHECK DNR

DEC SHIFT . & OF SHIFTS

BNE 19 ,DO IT RGRIN ?

,NOW POKE CLK TO SEE DNA

BIS $CLK. 9TXCSR .POKE CLK

MOV #100000. RO +EXPECTED

MOV 8TXCSR. R1 , ACTUAL

BIC $222727.R1 . SRVE DNR ONLY

CHP RO. R\ ,COMPARE EXP VS RCT

BEQ +4

ERROR 3 ,DONR SHOULD BE SET

.1F DNA DID NOT SET
,CHECK WORD LENGTH SELECT LOGIC

.. THIS TEST VERIFYS CHRRACTER PLUS PRRITY GEHERATION
..OF THE TRANSHITTER SECTION

,,» 1T ALSO CHECKS ONR T1IHMING

., »MODE. 1SYHOD

;. LENGTH: EIGHT PLUS PRRITY

. » CHRRACTER 125

P 3 80 332802800ttt ettt teetoesetseeats
TSTS SCOPE

B1S KMRESET, 9TXCSR , MRSTER RESET

MOV £1SYMOD, 9PARCSR . SET THE MODE

SeEq 0033

-
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D20ULB M1t 31-MAY-77
1569 00uv42 052777
1570
1571
1672

1673 004450 012777
1574

1575

1576 004456 012777
1577 004464 016703
1578 004470 112777
15679 004476 012767
1680 004504 012767
1681

15682 004512 052777
1583 004520 0Qu2777
1584 004526 005000
1685 004530 006067
1686 004534 103002
1587 004536 052700
1688 004542

1589 004542 052777
1590 004550 0842777
1591 004556 017701
1592 004562 042701
15693 004566 020001
1594 004570 001401
1695 004572 104003
1596

1597 004574 005367
1598 004600 001352
1599

1600 004602 052777
1601 004610 012700
1602 004614 017701
1603 004620 042701
1604 00%624 020001
1605 004626 001401
1606 004630 104003
1607

1608

1609

1610

1611

1612

1613

1614

1615

1616

1617

1618

1619 004632 000004
1620 004634 052777
1621 004682 012777
1622 004650 052777
1623

1624

21-StP-77 09

09. 50
000400

oo4020

007426
175236
000125
002252
000013

020000
020000

174744
002000

020000
020000
175144
Q75777

174322

020000
000000
175106
Q7?7227

000400
000000
000400

175256

175250

175236
175234
1724774
174410

175206
175200

175156
178150

176116

175064
175052

175050

b3

: 22 PRGE 36
INITIALI2E THE COMMON TRGS
BIS S$MRESET. TXCSR ,MASTER RESET
;SET MRINTENANCE HMODE & SEND
,NOTE BIT WINODOWRCLK RRE CLEARED (MTDATR=0)
] #MINT!SEND, 9TXCSR
;SET MOOE.® OF B1ITS,PRRITY SENSE.8& LOAD SYNC REG
MOV #1SYMOD'EIGHT!EVEPAR '26. PARCSR
MOV TXCSR. R3 ;SET UP FOR ERROR MSG
MOV %125, ¢ TXDBUF ;LORD DRATR (HAR
MOV %2252, 9THP1 ;7O BE SHIFTED CHRR
MOV #11. ,SHIFY . % OF SHIFTS
.POKE CLK TO GET INTO SYNCRON!ZRTION
81S #CLK, 9TXCSR .POKE CLK UP
BIC #CLK, 9TXCSR ,POKE CLK DOUWN
19 (LR RO
ROR S$THP1 .FORCE CRRRY
BC(C 2% ,BR IF CARRY (LR
BiIS #81TW. RO ,EQUIV OF BITH
29
BiS #CLK, 9TXCSR .POKE CLK UP
BIC #CLK, 9TXCSR .POKE CLK DOUWN
MOV @TX(SR, R1 + RCTURL
BIC #075777.R1 ,SAVE BITH & DNAR
CHP RO.R1 . COMPRRE EXP VS R(CT
BEQ N
ERRCR 3 +B1T WINDOW DID NOT MART(H ACTURL DARTA
LBIT, ALSO CHECK DNR
DEC SHIFT . % OF SHIFTS
BNE 19 .00 1T RGRIN ?
+NOW POKE CLK TO SEE ONA
81S SCLK, 9TXCSP .POKE (LK
MOV #0.R0 . EXPECTED
MOV oTXCSR, R1 . RCTUAL
BiC $7?2772?7. R . SAVE DNR ONLY
cHp RO. R1 . COMPARE EXP VS RAC(T
BEQ +4
ERROR 3 DNR SHOULD BE SET
,IF DNA DID NOT SET
. CHECK WORD LENGTH SELECT LOGIC
,» THIS TEST VERIFYS CHARACTER PLUS PARRITY GENEFRTION
.»OF THE TRANSMITTER SECTION
,+» I T ALSO CHECKS DNR TIMING
.»MODE 1SYNMOD
. LENGTH- EIGHT PLUS PARRITY
.. CHARACTER: 125
AU $ 5480200008300 320 0000020030033 0 0000027002000 2000 20230080002 200%]
TST6 SCOPE
BIS SMRESET, 9TXCSR , MASTER RESET
MOV $1SYHOD, PRRCSR , SET THE MODE
BiIS SHMRESET, @TXCER ,MASTER RESETY

,SET MAINTENRANCE MODE & SEND

SEQ 003y




DZOUU-B MACY11 30(1046)
0ZbuLe M1y J1-HAY-77

1625

1626 004656 012777
1627

1628

1629 00uebM 012777
1630 004672 016703
1631 0046?76 112777
1632 004704 012767
1633 004712 012767
1634

1635 004720 052777
1636 004726 042777
1637 00473% 005000
1638 004736 006067
1639 004742 103002
1640 004744 052700
1641 004750

1642 004?50 082777
1643 004?56 0427?77
1644 004764 017701
1645 004770 042701
1646 004774 020001
1647 004776 001401
1648 005000 104003
1649

1650 005002 005367
16561 005006 001352
1652

1653 005010 062777
1654 005016 012700
1656 005022 017701
1656 005026 042701
1667 005032 020001
1658 005034 001401
1659 005036 104003
1660

1661

1662

1663

1664

1665

1666

1667

1668

1669

1670

1671

1672

1673 005040 000004
1674 005042 052777
1675 005050 012777
1676 005056 052777
1677

1678

1679

1680 005064 012777

J 3
21-SEP-77 09.22 PRGE 37
09 50 INITIALIZE THE COMMON TRGS

+NOTE. BIT WINDOWLCLK RRE CLERRED (MTDRTA=0)
004020 175042 MOV #MINT!SEND., 8TXCSR

»SET MODE. & OF BITS,PRRITY SENSE.& LOAD SYNC REG

007026 175030 MOV $1SYNOD'EIGHT ! ODDPRR ' 26, dPARCSR
175020 MOV TXCSR.R3 ;SET UP FOR ERROR MSG
000126 175026 MOVB #1265, 9TXOBUF ;LORD DATA (HAR
003252 174566 MOV 83252, $THP1 ;TO0 BE SHIFTED CHAR
000013 174202 MOV $11. ,SHIFT . % OF SHIFTS
+POKE CLK TO GET INTO SYNCRONIZRTION
020000 175000 BIS S$CLK, dTXCSR ;POKE CLK UP
020000 174772 BiIC $CLK, aTXCSR ;POKE CLK DOWN
1§ CLR RO
174636 ROR $THP1 ;FORCE CRRRY
BCC 29 .BR IF CARRY CLR
002000 - BIS $81TW. RO ;EQUIV OF BITW
020000 174750 BIS SCLK, 9TXCSR ;POKE CLK UP
020000 174742 BiC $CLK, 9TXCSR ,POKE CLK DOWN
174736 MOV dTXCSR, R1 ; RCTUAL
0?8?7277 B:C #075777.R1 .SRAVE BITH & DNR
CMP RO.R1 ., COMPARE EXP VS A(T
BEQ +N
ERROR 3 ,BIT WINDOW DID NOT MRTCH ACTURL DRTA
BIT, ALSO CHECK DNR
174114 DEC SHIFT ., % OF SHIFTS
BNE 19 .00 |T AGRIN ?
.NOW POKE CLK TO SEE ONA
020000 174710 BIS BCLK. 9TXCSR .POKE CLK
000000 MOV $0.RO +EXPECTED
174700 MOV OTX(CSR. R1 . ACTUARL
077?277 BIC #772777.R1 . SAVE DNR ONLY
CMP RO.RY ., COMPARE EXP VS RAC(CT
BEQ +4
ERROR 3 . ONR SHOLILD BE SET

+\F DNR DID NOT SET
. CHECK WORD LENGTH SELECT LOGIC

,»THIS TEST VERIFYS CHRARACTER PLUS PARITY GENERARTION
,.0F THE TRANSHITTER SECTION

+. 1T ALSO CHECKS ONR TIMING

. »MODE. SYNINT

» . LENGTH. EIGHT PLUS PRRITY

.. PRR1TY: EVEPAR

. » CHARACTER 252

EEEEEIAIEEEEE LR RSN AR R KRNI E LKA X KX KA KX A RN KL

TST? SCoPt
000400 174656 BIS #MRESET, 9TXCSR , MASTER RESEY
030000 174644 MOV SESYNINT, gPARCSR , SET THE MODE
000400 174642 8IS S$MRESET, TXCSR ,MASTER RESET

,SET MAINTENANCE MODE L SEND
,NOTE BIT WINDOWLCLK RARE CLERRED (MTDRTR=0)
004020 17463y MOV RHINT!SEND. 9TXCSR

SEQ 0035




DZDUU-8 MACY11 JOC(1046)
bZouus ni1

1681
1682
1683
1684
1685
1686
1687
1688
1689
1690
1691
1692
1693
1694
1695
1696
169?
1698
1699
1700
1701
1702
1703
1704
1705
1706
17207
1708
1709
1710
1711
1712
1713
1714
1715
1716
1717
1718
1719
1720
1721
1722
1723
1724
1725
1726
1727
1728
1729
1730
1731
1732
1733
1734
1735
1736

005072
005100
005104
005112
005120

005126
005134
005142
005144
005150
005152
005156
005156
005164
005172
005176
005202
005204
005206

005210
005214

005216
005224
005230
005234
005240
005242
005244

005246
005250
005256
005264

005272

005300

31-MRY-77

012277
016703
112777
012767
012767

052777
Q42777
005000
006067
102002
052700

052777
0427727
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

00000y
052777
012777
052777

012777

012777

K 3

21-SEP-?77 09.22 PAGE 38

09 S0

037426
174622
000252
000252
000011

020000
020009

174330
002000
020000
020000

174530
Q75777

173706

020000
100000
174472
0?7?2727

000400
030000
000400

oo4%020

037026

174622
174620
174360
173774

174572
17456M

174542
174534

174502

174450
174436
1744y

178426

174814

INITIALIZE THE COMMON TRGS SEQ 0036

»SET MODE.# OF BITS,PRRITY SENSE,& LOAD SYNC REG
MoV #SYNINTIEIGHT'EVEPARR ! 26, aPARCSR

MOV TXCSR, R ,SET UP FOR ERROR MSG
MOVB %252, 9TXDBUF ;LORD DATR CHAR
MOV $#252,9THPY ;T0 BE SHIFTED CHAR
MOV #9.,SHIFT ;% OF SHIFTS
;POKE CLK TO GEYT INTO SYNCRONIZRTION
BIS #CLK, 9TXCSR ;POKE CLK UP
B1C #CLK, TXCSR ;POKE CLK DOWN
1$ CLR RG
ROR $THP1  ,FOr "E CRRRY
8CC 29 .BR F CRRRY CLR
25 BIS #BI1TH. RO EQUIV OF BITUW
BIS #CLK, dTXCSR »POKE CLK UP
Bi1( #CLK, @TVYOSR -POKE CLK DOWN
MOV oTXCSK. R} » RCTUARL
BiIC #075777. 1 :SAVE BITW & ONR
CHP RO.R1  ,COMPRRE EXP VS ACT
BEQ +4
ERROR 3 ;81T HINDOW DID NOT MATCH ACTURL DATA
+BIT,. ALSO CHECK DNR
DEC SHIFT . % Of SHIFTS
BNE 19 .00 1T AGARIN ?
.NOKW POKE CLK TO SEE DNR
BIS RCLK, TXCSR .POKE CLFK
MOV #100000. RO +EXPECTED
MOV dTXCSR. R1 »ACTURL
BIC 472727277.R1 +SAVE DNR ONLY
CHP RO. RY . COMPRRE EXP VS ACT
BEQ +4
ERROR 3 .DNA SHOULD BE SET

. |F ONR DID NOT SET
, CHECK HORD LENGTH SELECT LOGIC

. THIS TEST VERIFYS CHRARACTER PLUS PARITY GENERRTION
,;QF THE TRANSHITTER SECTION

»+. 1T ALSO CHECKS DNR TIMING

.- MODE. SYNINT

;. LENGTH: EIGHY PLUS PARITY

;. PARITY: ODDPAR

; . CHARACTER. 252

AR $ 083385030000 380300008300000020200¢022220000202000000020023200082¢
TSTI0  SCOPE

BIS SRESET, dTX(SR ,MASTER RESET

MOV SSYNINT, gPRRCSR , SET THE HODE

BIS SMRESET, dTXCSR  ;MASTER RESET

,SET MAINTENANCE MODE & SEND
»NOTE BIT WINDOWSCLK ARE CLERRED (MTDARTR=0)
Mov SMINT!SEND, 9TXCSR

,SET MODE.# OF BITS.PRARITY SENSE.& LORD SYNC REG
MOV BSYNINT'EIGHT ' ODDPRR ' 26, 9PRR(SR
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0Z0uLs

1737
1718
1739
1740
1741
1742
1743
1744
1745
1746
1747
1748
1749
1750
1751
1752
1763
1754
1755
1756
1757
1758
1759
1760
1761
1762
1763
1764
1765
1766
1767
1768
1769
1770
1?7721
1772
1273
1774
1775
1776
1777
1778
1779
1780
1781
1782
1783
1784%
1785
1786
1787
1788
1789
1790
1791
1792

M1

005306
005312
005320
005326

005334
005342
005350
005352
005356
005360
005364
005364
005372
005400
005404
005410
005412
00541y

005416
005422

0054 24
005432
005436
005442
005446
005450
005452

005454
005456
005464
005472

005500

005506
005514
005520
005526

31-MAY-77

016703
1127727
012767
012767

052777
Qw2777
005000
006067
103002
052700

052777
Qw2777
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

000004
052777
012277
052777

012777

0127272
016703
112777
012767

L 3

21-SEP-77 09 22 PARGE 39
INITIALIZE THE COMMON TARGS

09. 50

174814
000252
000652
000011

020000
020000

174122
002000

020000
020000
174322
Q75777

173500

020000
100000
174264
0?7/27

000400
030000
000400

004020

037426
174206
000000
000000

174412
174152
173566

174364
174356

174334
174326

174274

174242
174230
174226

174220

174206

174204
173744

MoV TXCSR, R ;SET UP FOR ERROR MSG
MOVE #252, 9TXDBUF .LORD DATA CHAR

MoV #652, $THP1 ;7O BE SHIFTED CHAR
MOV 89. . SHIFY ;8 OF SHIFTS

+POKE CLK TO GET INTO SYNCRONIZATION

19

29

B1S #CLK, TXCSR ;POKE CLK UP
BiC #CLK, 9TXCSR ;POKE CLK DOWN

CLR RO

ROR STHP1 . FORCE CRARRY

8CC 2% :BR IF CRRRY CLR

8iS #81TH, RO ;EQUIV CF BITH

BIS #CLK, 9TXCSR .POKE CLK UP

BiIC #CLK, @TXCSR .POKE CLK DOWN

MoV oTXCSR, R -ACTUARL

BIC %#075777.R1 -SAVE BITH & DNAR

CMP RO,R1 ., COMPARE EXP VS R(T

BEQ +y

ERROR 3 817 WINDOW DID NOT MATCH ACTUARL DRTA
-BiT,.. ALSO CHECK DNR

DEC SHIFT ., % OF SHIFTS

BNE 1$ .00 IT AGRIN ?

.NOW POKE CLK TO SEE DNA

BIS #CLK, 9TXCSR ;POKE (LK

MOV #100000, RO »EXPECTED

MOV STXCSR, R1 »RCTURL

BIC #77777.%1 » SAVE DNR ONLY

CHP RO.R1 »COMPRRE EXP VS RACT

BEQ L

ERROR 3 »ONR SHOULD BE SET

. IF ONR DID NOT SET
»CHECK WORD LENGTH SELECT LOGIC

.. THIS TEST VERIFYS CHRRACTER PLUS PARARITY GENERRATION
,.OF THE TRANSHITTER SECTION

.. IT ALSO CHECKS DNA TIMING

, »MODE- SYNINT

; + LENGTH: EIGHT PLUS PARRITY

;,PRRITY: EVEPAR

., CHRRACTER O

;,tttlt!iitltlillt!!l!l!!l!tl!tt!!!l!!!!li!!!!!ttXXt*lt!!tt!tt!!t

TST11

SCOPE
BIS S$MRESEY, J1XCSR ,MASTER RESET
MOV ESYNINT, @PARCSR . SET THE MODE

8IS S$MRESET, @TXCSR ;MASTER RESET

,SET MRINTENANCE HMODE & SEND

NOTE BIT HINDOWRCLK ARE CLEARRED (MTDARTR=0)
MOV SMINT!ISEND, TXCSR

,SET MODE.# OF BITS,PARITY SENSE, 8 LORD SYNC REG

HOV SSYNINTIEIGHT 'EVEPRR ' 26. dPRRCSR

MOV TXCSR, R3 ,SET UP FOR ERROR MSG
MOvB #0. o TXOBUF . LORD DATR CHAR

MOV 20, STHPH ,TO BE SHIFTED CHAR

SEQ 0037
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1793 005534 012767
1794

1795 005542 052777
1796 005550 042777
1797 005556 005000
1798 005560 006067
1799 005564 103002
1800 005566 052700
1801 0055?72

1802 0055?72 052777
1803 005600 042777
1804 005606 017701
1805 005612 042701
1806 005616 020001
1807 005620 001401
1808 005622 104003
1809

1810 005624 005367
1811 005630 001352
1812

1813 005632 052777
1814 005640 012700
1815 00Seu44 017701
1816 005650 042701
1817 005654 020001
1818 005656 001401
1819 005660 104003
1820

1821

1822

1823

1824

1825

1826

1827

1828

1829

1830

1831

1832 005662 000004
1833 005664 052777
1834 005672 012777
1835 005700 052777
1836

1837

1838

1839 005706 012777
1840

1841

1842 005714 012777
1843 005722 016703
1844 005726 112777
184S 005734 012767
1846 005742 012767
1847

1848 005750 052777

n3
21-SEP-77 09.22 PAGE 40

09 &0 INITIRLIZE THE COMMON TRGS
000011 173360 MOV £9. . SHIFT ;% OF SHIFTS
JPOKE CLK TO GET INTO SYNCPONIZATION
020000 174156 BIS #CLK, 9TXCSP .POKE CLK UP
020000 174150 BIC $CLK, 9TXCSP ;POKE CLK DOWN
1$: CLR RO
173714 ROR $STMP1 . FORCE CRRRY
BCC 29 ;BR IF CARRY CLR
002000 25 BIS 8 1ITH. RO ;EQUIV OF BITHW
020007 174126 BIS $CLK, 9TXCSR ;POKE CLK UP
020000 174120 BIC $CLK, aTXCSR ;POKE CLK DOWN
174114 MOV OTXCSR.R1 s RCTUARL
0?5777 BIC $075777.R1 ;SAVE BITW & DNR
CHP RO.R1 ;COMPRARE EXP VS ACT
BEQ .4
ERROR 3 ;BIT WINDOW DID NOT MRTCH ACTURL DRTR
;BIT,. .. ALSO CHECK DNR
173272 DEC SHIFT ;% OF SHIFTS
BNE 19 .DC IT RGRIN ?
.NOW POKE CLK TO SEE DNA
020000 174066 BIS SCLK, 9TXCSR ;POKE CLK
100000 MOV $100000. RO LEXPECTED
174056 MOV oTX(SR, R1 . RCTUARL
072277 BiC 872772?7.R1 . SRVE DNRA ONLY
CHP RO.R1Y . COMPRRE EXP VS A(CT
BEQ +4
ERROR 3 ,DNR SHOULD BE SET

. IF DNR DID NOT SET

; CHECK WORD LENGTH SELECT LOGIC
,» THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION

,.OF THE TRANSMITTER SECTION
.. 1T ALSO CHECKS DNR TIMING
; ;MODE. SYNINT

;. LENGTH: EIGHT PLUS PRRITY
;,PARITY ODDPAR

.. CHR2ACTER- O

..!!!!!!;;X!!t!!t!!t!tt!tt!ttt!!ttt!t!!!t!!!t!tlt
TST12: SCOPE

000400 17403y BIS S#MRESET, dTXCSR . MASTER RESET
030000 174022 MoV #SYNINT, 9PRRCSR ,SET THE MODE
000400 174020 BIS SMRESET. @TXCSR ,MASTER RESET

;SET MAINTENANCE HMODE & SEND

NOTE: BIT WINDOHSCLK ARE CLERRED (MTDRTR=Q)

004020 174012 MOV #INT ! SEND. @TXCSR

;SET MODE.® OF BITVS.PARITY SENSE.8 LORD SYNC REG
037026 174000 MoV BSYNINT!EIGHT'ODDPAR ! 26, PARCSR
174000 MOV TXCSR, R3 ;SET UP FOR ERROR MSG
000000 173?76 HOVB $0. aTXDBUF - LORD DATAR CHAR
000400 173536 MOV $400. STHP1 .TO BE SHIFTED CHAR
00001% 173152 MOV 89 . SHIFT . % OF SHIFTS

,POKE CLK TO GET 1470 SYNCRONIZRTION
020000 173750 BIS R K, STXCSR .POKE CLK UP

1390020003000 %

StQ 0038
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1849 005756 0QuM2777
1850 005764 005000
1851 005766 006067
1862 006772 103002
1853 005774 052700
1854 006000
1855 006000 052777
1856 006006 042777
1857 006014 017701
1858 006020 042701
1859 006024 020001
1860 006026 001401
1861 006030 104003
005367

1862
1863 006032

006036 001352
052727

1864
1865
1866 006040
1867 006046 012700
1868 006052 017701
1869 006056 042701
006062 020001
006064 001401
104003

1870
1871
006066

1872
1873
1874
1875
1876
1877
1878
1879
1880
1881
1882
1883
1884
1885
1886
1887
1888
1889
1890
1891
1892
1893
1894
1895
1896
1897
1898
1899
1900
1901
1902
1903
1904

006070
006072
006100
006106

000004
052777
012777
052777

006114 012777

0127727
016703
112777
012767
012767

052777
o4277?
005000
006067

006122
006130
006134
006142
006150

006156
006164
006172
006174

21-SEP-?77 09
09 S0

020000
173506
002000
020000
020000

173706
075777

173742

173720
173712

173064

020000
100000
173650
077?727

173660

000400
030000
000400

173626
173614
173612

004020 173604

173572

173520
173330
172744

173542
173534

037426
173572
000377
0003?27
000011

020000
020000

173300

N 3

22 PRAGE 419
INITIRLIZE THE COMMON TAGS
BIC RCLK, aTXCSR .POKE CLK DOWN
1S (LR RO
ROR $STMPY +FORCE CRRRY
BCC 28 B8R IF CARRY CLR
25 BIS #81TW. RO LEQUIV OF BITH
BIS fCLK, 9TXCSR .POKE CLK UP
BIC fCLK, dTXCSR .POKE CLK DOWN
MOV eTXCSR, R1 . ACTURL
BiIC $076777.R1 ,SAVE BITH & DNR
cmMP RO, R1 .COMPRRE EXP VS ACT
BEQ .4
ERROR 3 ,81T WINDOW DID NOT MRTCH ACTURL DRTR
;,BIT, ..RLSO CHECK DNAR
DEC SHIFT .4 OF SHIFTS
BNE 1§ .00 IT AGRIN ?
;NOW POKE CLK TO SEE DNA
BIS RCLK, 9TXCSR .POKE CLK
MOV #100000. RO +EXPECTED
MOV OTXCSR, R1 .ACTUAL
BiC $777277.R1 .SAVE DNR ONLY
CMP RO.R1 , COMPARE EXP VS ACT
BEQ .44
ERROR 3 .DNR SHOULD BE SET
.|/F DNR DID NOT SET
,CHECK WORD LENGTH SELECT LOGIC
;;THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
;;0F THE TRANSMITTER SECTION
.. T ALSO CHECKS DNR TIMING
;. MODE: SYNINT
:;LENGTH: EVIGHT PLUS PARITY
;;PRRITY: EVEPAR
;. CHARACTER: 377
PR ¢ 33 0833303003003 3 033330000280 03000008080000330300380903808380 8044
TST13:. SCOPE
BIS S$MRESET, dTXCSR . MASTER RESET
MOV SSYNINT, 9PRARCSR ., SET THE MODE
BIS SMRESET, 9TXCSR . MASTER RESET
;SET MAINTENANCE MODE & SEND
NOTE: BIT WINDOHRCLK ARE CLERRED (MTDRTR=0)
MOV SMINTISEND. 9TXCSR
,SET MODE. &% OF BITS,PRRITY SENSE.& LOAD SYNC REG
MOV S3YNINT'EIGHTIEVEPAR ' 26, dPRRCSR
MOV TXCSR.R3 ;SET UP FOR ERPROR MSG
MOVB $377. 9TXOBUF .LORD DATA (HAR
MOV $377.8THPY .TO BE SHIFTED CHRR
MOV 89 ,SHIFTY , & OF SHIFTS
LPOKE CLK 7O OET INTO SYNCRONIZATION
BIS $CLK, 9TXCSR .POKE (LK UP
BiC $CLK, 9TXCSR .POKE CLK DruN
1S CLR RO
ROR STMP1 ,FORCE CARRY

SeEQ 0039




B ¥
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DZDuuB. M1t 31-MRY-77 09:5 INITIALIZE THE COMMON TRGS SEQ 0040
1905 006200 103002 8CC 29 ;B8R 1IF CRRRY (LR
1906 006202 052700 002000 BIS #B1TH. RO ;EQUIV OF BITHW
1907 006206 2%
1908 006206 052777 020000 173512 BIS #CLK, TXCSR .POKE CLK UP
1909 006214 042777 020000 173504 BiC RCLK, 9TXCSR ;POKE CLK DOUWN
1910 006222 017701 173500 MOV dTXCSR, R - ACTUAL
1911 006226 042701 075777 BIC #075777.R1 ;SAVE BITW & DNR
1912 006232 020001 e RO.R1 . COMPRRE EXP VS ACT
1913 006234 001401 BEQ +4
1914 006236 104003 ERROR 3 ;BIT HINDOW DID NOT MATCH RCTUAL DATRA
1915 ;BIT... . ALSO CHECK DNR
1916 006240 005367 172656 DEC SHIFT ., % OF SHIFTS
1917 006244 001352 BNE 19 .00 1T RGRIN ?
1918 »NOH POKE CLK TO SEE DNR
1919 006246 052?777 020000 173452 BIS #CLK, 9TXCSR ;POKE CLK
1920 006254 012700 100000 MOV #100000, RO ;EXPECTED
1921 006260 017701 173442 MOV eTXCSR, R1 »ACTURL
1922 006264 042701 077777 BIC #777277.R1 ;SRVE DNR ONLY
1923 006270 020001 CHpP RO, R1 ; COMPRRE EXP VS RCT
1924 006272 001401 BEQ +4
1925 006274 104003 ERROR 3 - DNA SHOULD BE SET
1926 ;1F DNR DID NOT SET
13%; »CHECK WORD LENGTH SELECT LOGIC
i
1929 .. THIS TEST VERIFYS CHARACTER PLUS PARITY GENERRATION
1930 ;,OF THE TRANSHITTER SECTION
1931 .. 1T ALSO CHECKS DNR TIMING
1932 ; »MODE. SYNINT
1933 ;. LENGTH: EIGHT PLUS PRRITY
1934 ;;PRARITY- ODDPAR
1335 » . CHRRACTER 377
1936 .o
1937 PUD $ 3000033003300 0330000003000008000000800000 000000000 8222002280%¢
1938 006276 000004 TST14. SCOPE
1939 006300 052777 000400 173420 BIS SMRESET. 9TXCSR . MASTER RESET
1940 006306 012777 030000 173406 MOV $SYNINT, dPRRCSR ,SET THE MODE
1941 006314 052777 000400 173404 BIS SMRESET, TXCSR . MASTER RESET
1942
1943 . SET MAINTENRANCE MODE & SEND
1944 ;NOTE: BIT HINDOWRCLK RRE CLEARED (MTDRTR=0)
1945 006322 0127?77 004020 173376 MOV #MINT!SEND., @TXCSR
1946
1947 .SET MODE.® OF BITS.PRARITY SENSE.& LOARD SYNC REG
1948 006330 012777 037026 173364 MOV #SYNINT'!EIGHT ' ODOPAR ' 26, dPRRCSR
1949 006336 016703 17336M MOV TXCSR.R3 »SET UP FOR ERROR MSG
1950 006342 112?77 000377 173362 MOove #377, JTXDBUF -LORD DATA CHAR
19561 006350 012767 000777 173122 MOV $777.9THPY ;70 BE SHIFTED CHARR
1952 006356 012767 000011 172536 MOV $#9. . SHIFT . % OF SHIFTS
1953 ;POKE (LK TO GET INTO SYNCRONIZATION
1954 006364 0527?77 020000 17333y B1S #CLK, 9TXCSR ;POKE CLK UP
1955 006372 042777 020000 173326 BIC RCLK, 9TXCSR .POKE CLK DOWN
1956 006400 005000 19 CLR RO
1967 006402 006067 173072 ROR STMP1 . FORCE CARRY
1958 006406 103002 BCC 29 .BR IF CARRY (LR
1969 006410 052700 002000 BIS %81 T, RO .EQUIV OF 81TH

1960 006414 29
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pzZouuB M1

1961
1962
1963
1964
1965
1966
1967
1968
1969
1970
1971
1972
1973
1974
1975
1976
1977
1978
1979
1980
1981
1982
1983
1984
1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997
1998
1999
2000
2001
2002
2003
2004
2005
2006
2007
2008
2009
2010
2011
2012
2013
2014
2015
2016

0064 1M
006422
006430
0064 34
006440
006442
O064u4Y

006446
006452

006454
006462
006466
006472
006476
006500
006502

006504
006506
006512
006514
006522
006530

006536
006544

006552

006560
006566

006574
006602

31-MAY-77

052777
Qu2777?
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

00000u
105767
100127
052777
012777
052777

012777
012777

052777

042777
052777

042777
052777

21-SEP-77 09.22 PAGE 43

C «

09: 50 INITIALIZE THE COMMON TAGS
020000 173304 BIS RCLK, TXCSR .POKE CLK UP
020000 173276 BIC #CLK, 9TXCSR ;POKE CLK DOWN
1732?72 MOV oTXCSR. R1 + RCTURL
Q%777 BIC 80757277.R1 ;SAVE BITH & DNR
cMP RO. R1 ;COMPARE EXP VS ACT
BEQ +4
ERROK 3 ;81T WINDOW DID NOT MRATCH ACTURL DATA
;B1IT,...ALSO CHECK DNR
172460 DEC SHIFT ;8 OF SHIFTS
ENE 18 .00 IT RGRIN ?
NCH POKE CLK TO SEE ONR
020000 173244 BIS $CLK, 8TXCSR POKE CLK
100000 MOV #100000. RO EXPECTED
173234 MOV o TXCSR, R1 . ACTUAL
Q??7?77? BIC $777772.R1 . SAVE DNR ONLY
CMP RO.R1 . COMPRRE EXP VS A(CT
BEQ N
ERROR 3 . DNR SHOULD BE SET
., \F DNA DID NOT SET
,CHECK WORD LENGTH SELECT LOGIC
,»THIS TEST VERIFYS THRT BY SENDING ONLY ONE SYNC
, . CHRRACTER (TWO SELECTED BY STRAPPING ) RECACT =0
.. THEN SEND ONE ORDINARRY CHARACTER (TO BRERK UP THE SEQUENCE)
.. RECACT =0. ... 1T WILL TRKE TWO MORE SYNC CHRRS
..BEFORE RECACT =1
,»NOTE THIS TEST WILL ONLY WORK WHEN THO SYNC (CHARRS
.. HAS BEEN BEEN SELECTED . OTHERKISE JUMP RROUND THIS TEST
,»MODE SYNC INTERNAL (SYNINT)
.. PRRITY- NOPAR
.. THIS TEST CHECKS ONLY THE RECEIVER SECTION
D 3439030300303 0088083 3008000300083 98 3330002038000 030000300020¢00%4
TST15  SCOPE
172434 TSTB SYNCNO ., TEST FOR & OF SYNC CHRRS REQUIRED
BPL 29 ;'F NOT THO GET OUT OF TEST
000400 173204 BIS SMRESET, aTXCSR . MASTER RESET
030000 173172 MOV SSYNINT, 9PARCSR ,SET THE MODE
ooouM00 3723170 8IS SMRESET, 9TXCSR ,MASTER RESET
,SET MAINT DRTA, CLK, BREAK, LMAINTENRNCE MOODE
o6e4001 173162 MoV SMTDRATA!CLK!'MINT'BRERK., 9TXCSR
,SET MODE .#% OF BITS.PARITY SENSE.R_LORD SYNC REG
036026 173150 MOV SSYNINT!EIGHT 'NOPRR ! 26. ePRRCSR
000020 173132 BIS SSYNSCH, aRXCSR :SET SYN(C SERRCH
,POKE CLK TO GET RECE{VER INTO SYNCROIZRTION
020000 173140 B1C $CLK, 9TXCSR .POKE CLK DOWN
020000 173132 BIS $CLK, aTX(SR ;POKE CLK UP
;POKE CLK TO GET LOGIC INTO SYNCRONIZRTION
020000 173124 BIC 8CLK, TXCSR .POKE CLK DOWN
020000 173116 BIS RCLK. 9TXCSR .POKE CLK UP

SEQ 0041




DZDUU-8 MACY11 3J0(1046)
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2017 006610 012767
2018 006616 012767
2019 006624 004767
2020 006630 032777
2021 006636 001401
2022 006640 104004
2023 006642 012767
2024 006650 012767
2025 006656 004767
2026

2027

2028

2029 006662 042777
2030 006670 052777
2031

2032 006676 0Qu2777
2033 006708 052777
2034 006712 012767
2035 006720 032777
2036 006726 001401
2037 006730 104004
2038 006732 012767
2039 006740 012767
2040 006746 004767
2041 006752 005367
2042 006756 001360
2043 006760 032777
2044 006766 001001
2045 006770 104004
2046 006772

2047

2048

2049

2050

2051

2052

2053

2054

2055

2056

2057 006772 000004
2058 006774 052777
2059 007002 012777
2060 007010 052777
2061

2062

2063 007016 012777
2064

2065

2066 007024 012777
2067

2068 007032 0u42777
2069 007040 052777
2070

2071 007046 0Qu2777
2072 007054 052777

21-SEP-77 09

09: 80

000010
000026
010342
oo4000

000010
000025
010310

020000
020000

020000
020000
000002
004000

000010
000026
010220
172146

oo4u00

000400
030000
000400

064001

036026

020000
020000

020000
020000

172304
172654

173054

172252
172622

173036
173030

173022
173014

172204
172764

172162
172632

172724

172724
122712
172710

172702

172670

172666
172660

172652
172644

D

: 22 PRGE 4y
INITIALIZE THE COMMON TRGS
MOV $8. . SHIFT . 8% OF SHIFTS
MOV $26.9THPY ;SYNC CHAR TO BE SHIFTED IN
JSR PC.RPOKE ;SHIFT IN THIS SYNC CHRR
BIT SRECACT, RXCSR ,RECARCT = 0 ?
BEQ .4
ERROR 4 ;RECRCT SHOULD BE O
MOV 8#8.,SHIFY ;8 OF SHIFTS
MOV $25,9THPY ;ANY CHARRCTER
JSR PC. RPOKE ;SHIFT IN THIS CHRRARCTER
,YOU HAVE JUST LOST SYNCRONIZATION. ... . ..... ) )
LPOKE THE CLK TWICE TO GET INTO SYNCRONIZRTION
LPOKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC $CLK, aTXCSR ;POKE CLK DOWN
BIS $CLK, 9TXCSR .POKE CLK UP
LPOKE CLK TO GET LOGIC INTO SYNCRONIZRTION
BIC SCLK, 9TXCSR ;POKE CLK DOWN
BIS $CLK, 9TXCSR ,POKE CLK UP
MOV $2, COUNT ;8% OF SYNC CHRRS
1S BIT SRECACT, ORXCSR ,RECACT =0 7
BEQ +4
ERROR Y ,RECRCT SHOULD BE O
MOV #8 . SHIFT , % OF SHIFTS
MOV $26, STHP1 » SYNC CHAR
JSR PC. RPOKE ,SHIFT IN THIS SYNC CHARR
DEC COUNT
BNE 19 ;1S COUNT = 0 ? NO GO AGAIN
BIT BRECACT., dRXCSR ,RECARCT = 1 7
BNE .Y
25 ERROR 4 ;RECACT SHOULD BE RSSERTED
,.THIS TEST VERIFYS MODE SELECT .
,»SYNC EXTERNARL VS. SYNC INTERNAL
;BASICALLY THE TEST CHECKS THAT THE RECEIVED
;DATA FREEZES IN SYNC INTERNAL
;IN SYNC EXTERNAL THIS DRTA 1S TRANSPRRENT
;THIS TEST ONLY APPLIES TO THE RECEIVER SECTION
;. LENGTH: EIGHT
;NOTE: SERRCH SYNC 'S5 NOT SET
P $ 802200033888 400038¢88 8388080038000 0003300003000 30008080 090002848
TST16. SCOPE
BIS SMRESET, 9TXCSR . MASTER RESET
MOV SSYNINT. 9PARCSR ;SET THE MODE
BIS SNRESET.QTXCSR ., MASTER RESET
,SET MRINT DATR. CLK.BREAK, AMAINTENANCE MODE
MOV SMTDATR'CLK'MINT!BRERK, 9TXCSR
;SET MODE .8 OF BITS,.PARITY SENSE.&LOAD SYNC REG
MOV SSYNINT!E IGHT !NOPRR '26. oF RRCSR
;POKE CLK TO GET LOGIC INTO SYNCRONIZ2RATION
BIC $CLK, 9TXCSR ;POKE CLK DOWN
BIS $CLK, 9TXCSR ;POKE (LK UP
;POKE CLK TO GET LOGIC INTO SYNCRONIZRTION
BIC SCLK, 9TXCSR ;POKE CLK DOWN
BIS $CLK. 9TXCSR ,POKE CLK UP

StQ 0042
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0zOuus M11% 31-MAY-?7 09- 50 INITIRLI1ZE THE COMMON TRGS SEQ 0043
2073 007062 012767 000010 172032 MOV #8. ,SHIFT ;% OF SHIFTS
2074 007070 012767 000125 172402 MoV #1265, 9THP1 .DATA CHARACTER
2075 007076 016703 1726%M MOV RXDBUF. R3] .FOR ERROR MESSRGE
2076 007102 0u2?777 040000 172616 19 BIC SHTOATA, @TXCSR ;CLEAR MAINT DATA
2077 007110 000241 CLC
2078 007112 006067 172362 ROR $THP1  FORCE CRRRY
2079 007116 103003 8CC 2%

2080 007120 0527?77 040000 172600 BIS #MTOATR, aTXCSR , SET MTDRTA
2081 007126 042?77 020000 172572 29 BIC #CLK, dTXCSR .POKE CLK

2082 007134« 052777 0200009 172564 BIS 8CLK, 9TXCSR ;

2083 007142 012700 000377 MOV #377,R0 ;EXPECTED

2084 007146 017701 172544 MOV SRXDBUF, R1 »RCTUAL

2085 007152 020001 CHP RO.R1

2086 007154 001401 BEQ +4

2087 007156 104002 ERROR 2

2088 ;DATR (HARACTER SHOULD COMPARE
2089 007160 005367 171736 DEC SHIrT ,1S IT THE LAST SHIFT ?
2090 007164 001346 BNE 19 ;NO .. SHIFT SOME MORE
2091 007166 052777 000400 172532 BIS SMRESET, 9TXCSR ,MASTER RESET
2092 00717« 012?77 020000 172520 MOV #SYNEXT, dPRRCSR ;SET THE MODE
%ggg 007202 527?77 000400 172516 BIS #MRESET, 9TXCSR ,MRSTER RESET
2095 +SET MAINT DATA, (LK, BRERK, LHAINTENANCE MODE
%ggg 007210 012777 064001 172510 MoV SMTDATA!CLK!MINT'BRERK, dTXCSR
2098 .SET MODE .# OF BITS,PARITY SENSE,8LORD SYNC REG
2099 007216 0127?77 026U26 172476 MOV SSYNEXT!E IGHT 'NOPAR ! 26, dPARCSR
2100 +POKE CLK TO GET LOGIC INTO SYNCRON!IZATION

2101 007224 042?77 020000 172474 BIC #CLK, 9TXCSR »POKE CLK DOHWN
2102 007232 052777 020000 172466 BIS BCLK, dTXCSR .POKE CLK UP
2103 007240 0127?67 000010 171654 MOV #8 ,SHIFT . & OF SHIFTS
2104 007246 012767 000125 172224 MoV #125, STHP1 »DRTA CHARACTER
2105 007254 005067 172222 CLR $THP2

2106 007260 105167 172216 comMs $TMPZ . MAKE LOW BYTE ALL 1°'S
2107 ,TO MATCH RXDBUF 'S CONTENTS RFTER R HMASTER RESET
2108 007264 042?77 040000 172434 59 BiC #MTDATA, 9TXCSR . CLR MAINT DATA
2109 007272 000241 L

2110 007274 006067 172200 ROR $THP1 . FORCE CRRRY

2111 007300 103003 BCC 69

2112 007302 0652777 080000 172416 BIS §MTDRTR, JTXCSR

2113 007310 106067 172166 6% RORB $THP2  ,PICK UP CRRRY BIT

2114 007314 042777 020000 172404 BIC #CLK. 9TXCSR

2115 007322 052777 020000 172376 BIS RCLK, 9TXCSR

2116 007330 016700 172146 MOV STHPZ, RO +EXPECTED

2117 007334 017701 172356 HOV ORXDBUF ., R} . RCTUARL

2118 007340 020001 CHP RO, R1

2119 007342 001401 BEQ +4

2120 007344 104002 ERROR 2 . DATR CHRARACTER SHOULD COMPARE
2121 » THE DATA CHARACTER SHOULD BE SEEN RS 17
2122 ,SHIFTS ACROSS THE RECEIVER DATA OUTPUT
2123 007346 005367 171550 DEC SHIFT

21%“ 007352 001344 BNE 5%

2125

2126 , . THIS TEST VERIFYS TX DONE FUNCTION, DONE = 1
2127 .. MODE  SYNC INTERNAL

2128 ,.PARITY NO PARITY (NOPARR)
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DZDULB M1t

2129
2130
2131
2132
2133
213M
2135
2136
213?
2138
2139
2140
2141
2142
2143
2144
2148
2146
2147
2148
2149
2150
2151
2152
2153
2154
2155
2156
2157
2158
2159
2160
2161
2162
2163
2164
2165
2166
2167
2168
2169
2170
2171
2172
2173
2174
2175
2176
2177
2178
2179
2180
2181
2182
2183
2184

007354

007356
007364
007372

007400

007406

007414
007420
007422
007424
007432
007440
007446
007452
007454

007456
0074 6N
007472
007476
007500

007502

007504
007512
007520

31-HAY-77

0000QY

052777
0127277
052?77

0127727

0127277

108?277
100401
104004
112777
052777
oN2777
105777
100001
104004

052777
027727
105777
100401
104004

000004

0527727
012777
052777

21-SEP-727 09

09 50

000400
030000
000400

004020

036026
172306

000021
020000
020000
172254

020u00
020000
172230

000400
020000
000400

172342
172330
172326

172320

172306

172300
172266
172260

172242
172234

172214
172202
172200

F oy

22 PRGE ue
INITIRLIZE THE COMMON TRGS
;. LENGTH  E IGHT
::xxxxxxxxxxxxxxxxxxxxxxtxx:xxxtxtxttx:xxxxxtxxttxxtxxxxxxtxxxtxx
TSTY?7 SCOPE
8IS SMRESET, @TXCSR . MASTER RESET
MOV #SYNINT, 9PRRCSR ;SET THE MODE
8IS SMRESET, 9TXCSR . MASTER RESET
,SET MARINTENANCE MODE & SEND
sNOTE: BIT WINDOWRCLK RRE CLERRED (MTDRTR=0)
MOV $MINT!'SEND, @ TXCSR
,SET MODE. &% OF BITS.PARITY SENSE.8 LORD SYNC REG
MOV SSYNINT'EIGHT!NOPRR'26, aPRRCSR
TST8 o TXCSR » TXDONE?
BMI .
ERROR 4 ; TXDONE SHOULD 3E SET
MOVB 8$21. 9TXDBUF ;LORD ANY CHAR
BiS SCLK, 9TXCSR .POKE CLK UP
BIC $CLK, 8TXCSR .POKE CLK DOWN
TS18 OTX(SR
BPL +4
ERROR 4 » TXDONE SHOULD BE CLR
BIS $CLK, 9TXCSR ,POKE CLK UP
BIC $CLK, 9TXCSR ,POKE CLK DOWN
TST8 o9 TXCSR
BH! +4
ERROR Y » TXDONE SHOULD BE SET
.,»THIS TEST PROVES THRT RXERR FREEZES THE "RECEIVER
, RESET" WHILE IN STRIP SYNC MODE
,.THIS TEST FIRST PROVES THAY RUTOMRTIC RESETS OCCUR
;. HHEN STRIP SYNC 1S SET AND SYNC CHARACTERS RRE SENT
..BUT IF AN ERROR SHOULD OCCUR THIS RAUTOMATIC RESET
.. 1S DISCOMBOBULATED
., |E. FORCE OVERRUN (OVERRUN) WHILE STRIP SYNC IS SET
,.BY TRANSMITTING R DATA CHRARACTER THEN TRANSMIT R SYNC CHRRRCTER
,;AND DON'T RERD THAT DATRA CHARRCTER NOTE NORMRLLY THE LOGIC
.,RESETE THE RXDONE & ERROR FLAGS PROVIDING THRT ONLY SYNC CHRRACTERS RRE
.»STRIPPED
. . MODE SYNC EXTERNAL (SYNEXT)
., LENGTH. EIGHT
.. NOTE THIS TEST USES B80TH RECEIVER RAND TRANSMITTER LOGIC
D 35330208800 020t i et satt ettt teetttettteeittenteiasestsede!
TST20 SCOPE
BIS SMRESET, @TXCSR . MASTER RESET
MOV $SYNEXT, @PRRCSR ,SET THE MODE
BIS SMRESET, 9TXC(SR ,MASTER RESET

SEQ OO0u4
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2185
2186
2187
2188
2189
2190
21N
2192
2193
2194
2195
2196
2197
2198
2199
2200
2201
2202
2203
2204
2205
2206
2207
2208
2209
2210
2211
2212
2213
2214
2215
2216
2217
2218
2219
2220
2221
2222
2223
2224
2225
2226
2227
2228
2229
2230
2231
2232
2233
2234
2235
2236
2237
2238
2239
2240

007526

00753y
007542
007550
007556
007562
007570
007576
007604
007612
007612
007620
007626
007632
007634
007640
007642
007644
007650
007652
007656
007662
007664
007666

007670
007676

007704

007712
007712
007720
007726
007732
00773y
007740
007742
007746
007750
007752
007756
007762
00776M
007766

31-MAY-?27

012777

012777
112777
0527277
016703
012767
052777
042777
012767

052777
oM 2777
005367
001367
105777
100001
104004
005367
001355
012700
017701
020001
001401
104002

012767
112777

012767

0527277
042777
005367
001367
005367
001361
105777
100401
104004
012700
017701
020001
001401
104002

21-SEP-77 09. 22 PRGE 47
INITIRLIZE THE COMMON TRGS

09 50

004020

026026
000026
000420
17213
000003
020000
020000
000010

020000
02000C
171270

172052

171254

000026
172034

000003
000025

000010

020000
020000
171170
171164
171744

140026
171734

172172

172160
172162
172134

1721334
172130
172122
171310

172106
172100

171210

172006
172000

G

»SET MAINTENANCE MODE & SEND
»NOTE: BIT WINDOWRCLK RARE CLEARED (MTDRTR=Q0)
SMINT!SEND, 9TXCSR

»SET MODE.# OF BITS,PARITY SENSE,& LORD SYNC REG
ASYNEXT!EIGHT !NOPRR ! 26, 9PRRCSR

29
19

us
38

Mov

MOV
Move
BIS
MOV
MOV
BIS
BiC
MOV

BIS
BIC
OEC
BNE
TST8
BPL
ERROR
DeC
BNE
MoV
MOV
CHP
BEQ
ERROR

MOV
MOVB

MOV

BIS
BIC
DEC
BNE
DEC
BNE
TSTB
BM!
ERROR
MOV
MOV
CMHP
BEQ
ERROR

#26, aTXDBUF

HSYNSCH!STPSYN, 9RXCSR

RXDBUF ., R3
%3, COUNT
RCLK, 9TXCSR
#CLK, 9TXCSR
#8. . SHIFT

#CLK, TXCSR
NCLK, 9TXCSR
SHIFT

19
JRXCSR
.4
Y
COUNT
28
%26, R0
JRXDBUF ., R1
RO, R1

+4
2

%3, COUNT
%25, TXDBUF

;LORD SYNC CHRR

;SET SYNC SEARCH & STRIP SYNC
;SET UP FOR ERROR MESSAGE

;8 OF TIMES SYNC WiLL BE SENT

;POKE CLK UP

.POKE CLK DOWN

& OF SHIFTS

.POKE CLK UP
.POKE CLK DOWN

- RXDONE?
, RXDONE SHOULD NOT RSSERT

,EXPECTED
-RCTUAL

»NOTE THAT OVERRUN SHOULD NOT OCCUR., ALSO
,SECOND & 3RD SYNC C(HRRRCTER CRME FROM
+SYNC HOLDING REGISTER

% OF TIHES

.LORD ANY (HAR HOWEVER

. ONE MORE SYNC CHAR WILL BE SENT BEFORE
. THE "25" (HRAR 1S SENT (THE DNR BIT IS

. ALRERDY UP)
&8 . SHIFT

®CLK. 9TXCSR

% OF SHIFTS

.POKE CLK UP

$CLK., 9TXCSR ,POKE CLK DOWN
SHIFT
38
COUNT
4s
ORXCSR ,RXDONE = 1 7
+4
Y ,RXDONE SHOULD BE SET
SRXERR'OVRRUN'26. RO ,EXPECTED
ORXDBUF ., R ; ACTUARL
RO. R1
+y
2 ,NOTE THRT OVRRUN SHOULD NCCUR.

,ALSO SECOND SYNC CHARRCTEF CRME
,FROM SYNC HOLOING REGISTER

SEQ 0045
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pzouLe M1t

2241
2242
2241
2244
2245
2246
2247
2248
2249
2250
2251
2252
2253
2254
2255
2256
2257
2258
2259
2260
2261
2262
2263
2264
2265
2266
2267
2268
2269
2270
2271
2272
2273
2274
2275
2276
2277
2278
2279
2280
2281
2282
2283
2284
2285
2286
2287
2288
2289
2290
22971
2292
2293
229%4
2295
2296

00?7770

007772
010000
010006

010014

010022
010030
010034
010042
010050
010056

01006M
010072
010100
010106
01010
010114
010116

010122
010122
010130
010136
010142
010146
010150
010152

010154
010160

000004

052777
012777
052777

012777

012777
016703
42?2727
012767
112777
052777

052777
042777
012767
005000
006067
103002
052700

052727
Q42777
017701
042701
020001
001401
104003

005367
001352

H W

21-SEP-77 09 22 PRAGE 48
31-MARY-?77 09 S0

000N00
020000
000400

004020

026026
171672
000020
00C025
000U25
000020

020000
020000
Q00010
171364
002000
020000
020000

171564
Q75777

170742

171726
1717214
1717212

1717204

171672

171664
171430
171654
171642

171634
171626
171014

171576
171570

INITIRLIZE THE COMMON TRGS

. SUMMARY  THE OVRRUN STOPPED
» THE RUTOMATIC RESETTING Of
,RXDONE 8 ERROR FLRGS . CHECK THIS

.. THIS TEST VERIFYS THAT EITHER SEQUENCE OF
;»LORDING TXDBUF AND SETTING SEND

..O0ES CRUSE TRANSMISSION

»»-MODE  SYNC EXT

»»LENGTH  EIGHT

::!!!!!!t!!!!tt!!t!!!!!!!tt!!!!!!Xll!!!!!!!l!!tlll!!!!!!!!!!!!!!!
TST21  SCOPE

BIS RMRESET. 9TXCSR . MASTER RESET
MOV SSYNEXT, JPARCSR . SET THE MODE
BIS #MRESET, 9TXCSR . MASTER RESET

»SET MRINTENRANCE MODE & SEND
+NOTE BIT WINDOWSCLK RRE CLERRED (MTDATR=0)

MOV #MINT!SEND. 9TXCSR
. SET MODE. % OF BITS.PARITY SENSE.& LORD SYNC REG
MOV #SYNEXT'EIGHT 'NOPAR ' 26, dPRRCSR
nov TXCSR, R3 »SET UP FOR ERROR MESSRGE

BIC #SEND, 9TXCSR - DROP SEND
MOV #25.$TMHPY
Hove 825, TXDBUF . LORD CHARACTER
BIS #SEND. 9TXCSR »SET SENO
.GET INTO SYNCRONIZATION

BIS $CLK, 9TXCSR ,POKE CLK UP

BIC 8CLK, 9TXCSR .POKE CLK DOWN

MOV #8 .SHIFT , % OF SHIFTS
18 CLR RO

ROR sTHPY

BCC 28

BIS #B81TW. RO ,EQUIV OF BIT WINDOW
2§

BIS $CLK, TXCSR ,POKE CLK UP

BIC S$CLK. 8TX(SR ,POKE CLK DOKWN

MOV TX(SR. R » RCTURL

BiIC $076777.R1 .SAVE BIT WINDOW & DNR

CMP RO.R1

BEQ +y

ERROR 3 ,BIT WINDOW DID NOT MATCH ACTUARL DORTA BIT

.ALSO CHECK DNR
DEC SHIFT
BNE 19

. THIS TEST VERIFYS THAT DROPPING OF SEND IN THE
,.MIDDLE OF TRANSHMITTING R CHARACTER DOES INDEED
,»FINISH TRANSHITTING THRT CHARACTER

,.MODE  SYNC EXT

. LENGTH  EIGHT

SEQ 00ve




D20UU-B MACY11 30(1046)
pZ0uLs Mi1

2297
2298
2299
2300
230
2302
2303
2304
2305
2306
2307
2308
2309
2310
2
2312
2313
2314
2315
2316
2317
2318
2319
2320
2321
2322
2323
2324
2325
2326
2327
2328
2329
2330
2331
2332
2333
2334
2335
2336
2337
2338
2339
2340
2341
2342
2343
2344
2345
2346
2347
2348
2349
2350
2351
2352

010162

010164
010172
010200

010206

01021y
010222
010226
010234
010242

010250
010256

010264
010266
010272
010274

010300
010300
010306
010314
010320
010324
010326
010330

010332
010336
010344
010346
010354
010360

010362
010364
010372
010400

31-MAY-?77

000004

052777
012777
052?77

012277

012777
016703
112777
012767
012767

052777
Qu2777

005000
006067
103002
052700

052777
ou2777?
017701
042701
020001
001401
104003

005367
022767
001003
042777
005767
001341

000004
052777
012777
052777

21-SEP-?27 09

09 S0

000400
020000
000400

004020

026026
171500
000252
000252
000010

020000
020000

171206
00200

020000
020000
171406
Q757727

170564
000003

000020
170542

0oo~00
030000
000400

171534
171522
171520

171512

171500
1718476
171236
170652

171460
171442

171420
171412

170556
171352

(I

22 PAGE 49
INITIRLIZE THE COMMON TRGS
P $ 0 9300030008300 3830038033388 0000 3200300089003 300¢0003300¢0092809¢%1¢
TST22 SCOPE
BIS SMRESET. @TXCSR . MASTER RESET
(o)} SSYNEXT, 9PARCSR ;SET THE MOOE
BIS SMRESET,. 9TXCSR ., MASTER RESET
,SET MRAINTENANCE MODE & SEND
SNOTE: BIT WINDOWSCLK RRE CLERRED (MTDRTR=0)
MOV #MINT!SEND, 8 TXCSR
,SET MODE. & OF BITS,PARITY SENSE.& LORD SYNC REG
MOV BSYNEXTI!EIGHT 'NOPRR ' 26, PARCSR
MOV TXCSR.R3J .SETUP FOR ERROR MESSRGE
MOVB 8252, 9TXDBUF . LORD DRTAR CHAR
MOV $252.9TnMP1 ,SHIFTED CHARR
MOV 88 ,SHIFT .8 OF SHIFTS
;GET INTO SYNCRONIZATION
8:S #CLK., 9TXCSR .POKE CLK UP
BIC #CLK, 9TXCSR .POKE CLK DOWN
19 CLR RO
ROR STHP1 ,FORCE CARRY
BCC 28
BiS #81TW, RO ,EQUIV OF BIT WIHDOW
28
BIS #CLK. 9TXCSR .POKE CLK UP
BIC #CLK. 9TXCSR .POKE CLK DOUN
MOV STXCSR., R1 ; ACTUAL
81C $075777.R1 ~SAVE ONLY BIT WINDOW & DNR
CMP RO.R1
BEQ +
ERROR 3 ,B1T WINDOW DID NOT MRTCH
-ACTUAL DRTA BIT
DEC SHIFT
cHpP $3,.SHIFT
BNE 38
BIC #SEND, 9TXCSR , DROP SEND
38 TST SHIFT
BNE 19 .00 IT AGRIN?
,,THIS TEST VERIF ¢S THRAT RXDONE RSSERTS WHEN STRIP SYNC IS SET
,.MODE SYNC INTERNAL
,» LENGTH: EIGHT
D 3430 08800800ttt ttte et tterttititseeittettotestesertess!
TST23  SCOPE
BIS S$MRESET,. 9TXCSR ,MASTER RESET
MOV S$SYNINT, 9PRRCSR ,SET THE MODE
BIS S$MRESET, @TXCSR . MASTER RESET

SEQ 0047
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bzZouus M1t

2353
2354
2355
2356
2357
2358
2359
2360
2361
2362
2363
2364
2365
2366
2367
2368
2369
2370
2371
2372
2373
2374
2375
2376
2377
2378
2379
2380
2381
2382
2383
2384
2385
23186
2387
2388
2389
2390
2391
2392
2393
23%
2395
2396
2397
2398
2399
2400
2401
2402
2403
2404
2405
2406
2407
2408

010406

010414
010422

010430
010436

010444
0104562
010460
010464

010472
010476
010500
010504
010512
010520
010524
010530
010532
010540
010542
010544
010550
010552
010554
010562
010570
010574
010600
010602
010604
010610
010614
010616
010620

31-MAY-77

012777

012777
052777

Qw2777
052777

Q42777
052777
016703
012767

105767
100402
005367
012767
012767
00u767
005367
001365
032777
001001
104004
105777
100001
104004
012767
012767
004767
105777
100401
104004
012700
017701
020001
001401
104002

J 4

21-SEP-77 09:22 PAGE 50

09 S0

064001

036026
000420

020009
020000

020000
020000
171232
000002

170450

170420
000010
000026
006446
170374

oo4000

171142

000010
000025
006376
171112

000025
171102

171312

171300
171262
171270
171262

171254
171246

170432

170410
170760

171162

170340
170710

INITIALIZE THE COMMON TRGS

;SET MRINT DATA, CLK, BREAK, LMAINTENANCE MOOE
MoV SMTDRTR!CLK!MINT'BRERK, 9TXCSR

;SET MODE .# OF BITS.PARITY SENSE.8LORD SYNC REG
MOV SSYNINT!EIGHT !NOPAR ! 26, aPARCSR

BIS #SYNSCH!STPSYN, dRXCSR  /SET SYNC SERRCH &
;STRIP SYNC
,POKE CLK TO GET RECEIVER INTO SYNCRONIZARTION
BIC #CLK, 9TXCSR ;POKE CLK
BIS #CLK, aTXCSR ;
;POKE CLK TO GEY LOGIC INTO SYNCRON!ZRTION

BIC SCLK, 9TXCSR ;:POKE CLK DOWN
BIS 8CLK, dTXCSR .POKE CLK UP
MOV RXDBUF.R3 ,FOR ERROR MESSAGE

MOV #2, COUNT & OF TIMES OF SYNC CHARS
. TEST TO SEE HOW MANY SYNC CHRRS NEEDED
TST8 SYNCNO

BMI 39 ;HILL IT BE ONE OR TWO ?
DEC COUNTY ;MAKE IT ONE LESS
39 MOV #8 . SHIFT ; 80F SHIFTS
MOV $26. STHP1 . SYNC CHAR
JSR PC.RPOKE
DEC COUNT ;1S IT THE LAST SYNC CHRR ?
BNE 38 .GO RAGRIN AND SHIFT IN ANOTHER SYNC CHRR
BIT BRECACT. dRXCSR . RECA(CT=1"
BNE . +4
ERROR 4 ;RECACT SHOULD BE ARSSERTED
TST8 ORXCSR , RXDONE =07
8PL +4
ERROR Y ;RXDONE SHOULD NOT BE RSSERTED
rfov $8. . SHIFT . ROF SHIFTS
MOV £25,9TMP1 ., ANY CHARACTER
JSR PC.RPOKE
TST8 ORXCSR . RXDONE=1"7
BMI .44
ERROR 4 , RXDONE SHOULD NOW BE RSSERTED
MOV $25.R0 LEXPECTED
MOV ORXDBUF, R1 ,RCTUAL
CMP RO.R1
BEQ +4
ERROR 2 . CHRRACTERS SHOULD BE MATCHED

.. THIS TEST VERIFYS THAT BY L°0PPING SYNSCH

.. IN THE MIDDLE OF R CHARACTER, SYNC CHARACTER SEQUENCE

.. 1S NEEDED BEFORE RECACT, RXDONE ASSERT RGAR!N

;.ALSO NOTE: SINCE RECACT IS DEPENDENT ON MATCH DETECT,
,»AND IF SYNSCH |S DROPPED IN THE MIDDLE OF

.. R SYNC CHRRACTER AND THEN RAISED AGARIN ;RXDONE SHOULD

»»NOT ASSERT UNTIL NEW SYNC CHARRACTER SEQUENCE HOWE VER

,.ONE "PAD" CHARACTER MUST PRECEED THIS JUGGLING OF SERRCH SYNC (SYNSCH)

,.MODE  SYNC INTERNAL (SYNINT)
.. LENGTH  EIGHT

s

SEQ 0048
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DZOUUB M1l  31-MRY-?7 09: 50 INITIALIZE THE COMMON TRGS SEQ 0049
2409
2410 P £ 8 0203080000083 883080000e2e383003030303080303930303030303¢83%!
%:}% 010622 000004 TST24-  SCOPE
2413 010624 052777 000400 171074 BIS #MRESET, 9TXCSR  ;MASTER RESET
2414 010632 012777 030000 171062 MOV RSYNINT, QPARCSR ,; SET THE MODE
%:}2 010640 052777 000400 171060 BIS #MRESET, 9TXCSR ;MRSTER RESET
2417 ;SET MRINT DATR, CLK, BREAK, &MAINTENANCE MODE
§:1g 010646 012777 064001 171052 MOV #MTORTA!CLK'MINT!BRERK, 9TXCSR
!
2420 ,SET MODE ,# OF BITS,PRRITY SENSE.8LORAD SYNC REG
g:%; 010654 012777 036026 171040 MOV #SYNINT!E | GHT ! NOPAR ! 26, aPRRCSR
2423 010662 052777 000020 171022 BIS BSYNSCH, RXCSR  ; SET SYNC SEARCH
2424 .POKE CLK TO GET RECEIVER INTO SYNCROIZATION
2425 010670 042?77 020000 171030 BIC $CLK. 9TXCSR ;POKE CLK DOWN
2426 010676 052777 020000 171022 BIS $CLK. 9TXCSR ;POKE CLK UP
2427 ,POKE CLK TO GET LOGIC INTO SYNCRONIZATION
2428 010704 0427?77 020000 171014 BIC #CLK. 9TXCSR ;POKE CLK DOWN
2429 010712 0527?77 020000 171006 BIS #CLK, 9TXCSR ;POKE CLK UP
2430 010720 012767 000002 170176 MOV #2, COUNT . % OF TIMES
2431 010726 016703 170764 MOV RXDBUF. R3 FOR ERROR MESSAGE
2432 010732 012767 000010 170162 18. MOV 8., SHIFT .4 OF SHIFTS
2433 010740 012767 000026 170532 MOV 126, STHP1 , SYNC CHAR.
2434 010746 004?67 00€220 JSR PC. RPOKE
2435 010752 005367 170146 DEC COUNT
2436 010756 001403 BEQ 2§
2437 ,TEST TO SEE HOM MANY SYNC CHRRACTERS NEEDED
2438 010760 105767 170162 TSTB  SYNCNO
gusg 010764 100762 BM| T
"
2441 010766 032777 004000 170716 2§ BIT ARECACT, RXCSR  ,RECACT=17
2442 010774 001001 BNE N
2443 010776 104004 ERROR 4 ,RECACT SHOULD BE SET
2444 011000 105777 170706 TSTB  QRXCSR . RXDONE = 0?
2445 011004 100001 BPL +4
2446 011006 104004 ERROR Y4 ,RXDONE SHOULD = O
2447 , THE FOLLOMING ALLOWS THE RECEIVER "CHIP" TO RECOGNIZE THE DROPPING OF SYNSCH
2448 . BASICALLY IT SINULATES THE "PAD" CHARACTER REQUIREMENT AT THE END
2449 ,OF DATA TRANSFER.
2450 ONE "PAD" CHARACTER 1S REQUIRED TO FLUSH OUT SYNC CHRRACTER
2451 JAND .. YOU HAVE TO DROP SYNSCH ON THE NEXT OR FOLLOWING CHARACTER
2452 ,FOR A "CLERAN" RESTART
2463 011010 012767 000010 170104 MOV 88, SHIFT % OF SHIFTS
2454 011016 012767 000025 170454 MOV $25, STHP1 . "PRD" CHARACTER
2455 011024 004767 006142 JSR PC. RPOKE ,SHIFT IN "PAD" CHRRACTER
2456 011030 105777 170656 TSTB  RXCSR ,RXDONE = 1 2
2457 011034 100401 BMI +4
2458 011036 104004 ERROR 4 ;RXDONE SHOULD = 1
2459 011040 017701 170652 MOV SRXDBUF, RY STORE AFTIAL & CLEAR RXDONE
2460 01104 012700 000025 MOV %25,R0 . EXPECTED
2461 011050 020001 CMP RO.R1 . COMPARE EXPECTED DATA VS ACTURL DATA
2462 011052 001401 BEQ Y
2463 011054 104002 ERROR 2 ,DATA SHOULD COMPARE WITHOUT ERROR FLAGS

2464 ,THE FOLLOWING 1S THE SYNC CHARACTER AFTER THE "PRD" CHRRACTER
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2465
2466
2467
2468
2469
2470
2471
2472
2473
2474
2475
2476
2477
2478
2479
2480
2481
2482
2483
2484
2485
2486
2487
2488
2489
2490
2491
2492
2493
2494
2495
2496
2497
2498
2499
2500
2501
2502
2503
2504
2505
2506
2507
2508
2509
2510
2511
2512
2513
2514
2515
2516
2517
2518
2519
2520

011086
011064
011072
011076
011104
011106
011110
011114
011116
011120
011126
011134
011136

011140
011146
011152
011160
011166
011170
011172
011176
011200
011202
011210
011214
011222
011224
011226
011232
011234
011236
011242
011246
011250
011252

011254

011262
011266
011270
011274
011302
011310
011314
011320
011322
011330

31-MRY-?77

012767
012767
00u?767
032777
001001
104004
105777
100001
104004
02777
032777
001401
104004

012767
004767
052777
0327727
001401
104004
105777
100001
104004
012767
004767
032777
001401
104004
105777
100001
104004
012700
017701
020001
001401
104002

012767

105767
100402
005367
012767
012767
004767
005367
001365
032777
001001

21-SEP-7?7 09 22 PAGE 52
INITIALIZE THE COMMON TRGS

N WHICH SEARCH SYNC (SYNSCH) IS JUGGLED TO CREATE AN ABORT SITURTION
T THE END OF R DRTR TRANSFER SEQUENCE

09: 50

000004
000026
006074
0oo4000

170576

000020
004000

000002
006020
000020
004000

170514

000002
005756
004000

170460

000025
170450

000002

167660

167630
000010
000026
005656
167604

004000

170036
170406

170606

170564
170556

167754

170532
170524

167712
170470

167642

167620
170170

170362

ol
/R

Mov
MOV
JSR
BIT
BNE
ERROR
TST8
8PL
ERROR
BIC
BIT
BEQ
ERROR

L &

4. SHIFT .8 OF SHIFTS
826, 9THP1 ; SYNC CHAR.
PC. RPOKE
QRECR(T,QRXCSR +RECACT=1?
+
4 ,RECACT SHOULD STILL BE SET
ORXCSR .RXDONE = 0 ?
.4
4 ; RXDONE SHOULD = O FROM PREVIOUS REARDING OF RXDBUF

HSYNSCH, RXCSR ., DROP SERRCH SYNC

RRECACT, RXCSR , RECACT=0?

.Y

Y RECACT SHOULD NOT BE SET

+NOW SHIFT THO BITS TO ALLOW SERARCH SYNC =0 TO TRKE
JEFFECT IN THE LOGIC(THIS ALLOWS THE RECEIVER CHIP TO SEE
. THE DROPPING OF SERRCH SYN(C)

MOV
JSR
BIS
BIT
BEQ
ERROR
TST8
BPL
ERROR
MOV
JSR
BIT
8eQ
ERROR
TSTB
BPL
ERROR
MOV
MOV
CHP
BtQ
ERROR

8$2,SHIFT ;% OF SHIFTS
PC.RPOKE
RSYNSCH, 9RXCSR ., SET SEARCH SYNC
SRECACT, dRXCSR
Y
4 ;RECRCT =0 ?
ORXC(SR ,RXDONE = 0 ?
.Y
4 .RXDONE = 0 ?
$2,SHIFT ,% OF SHIFTS TO FINISH UP THE SYNC CHRRRCTER
PC.RPOKE
SRECACT., IRXCSR . RECR(T=0"
.Y
4 ,RECACT SHOULD NOT BE SET
SR XCSR ; RXDONE =07
+4
4 ,RXDONE SHOULD NOT BE RSSERTED
$25.R0 L EXPECTED
oRXDBUF ., R1 »ACTUAL
RO. R1 ,COMPRARE EXPECTED VS ACTUARL
LY
2 ; CHARACTERS SHOULD BE MRTCHED
;REMBEMBER THAT THE " 25 " FROZE WHEN SYNSCH WAS DROPPED
;THEREFORE . 25 WILL BE RERD RAND NOT 26

;THE FOLLOWING VERIFYS THRT THE RE SYNCRONIZATION COMES UP "CLERN"

39

Hnov

#2, COUNT ;% OF TIMES OF SYNC CHRRS

“TEST TO SEE HOM MANY SYNC CHARS NEEDED

TST8
BHI
DEC
MOV
MOV
JSR
DEC
BNE
BIT
BNE

SYNCNO ; HOW MANY SYNCS ARE YOU STRRPPED FOR ?

39 +HILL IT BE ONE OR THO ?
COUNT . IT WRS ONLY ONE NEEDED
£8. . SHIFT . ROF SHIFTS
$26.9THPY » SYNC CHAR
PC. RPOKE
COUNT . IS IT THE LAST SYNC CHRR ?
39 ,GO AGAIN AND SHIFT IN RANOTHER SYNC CHRR
SRECACT, dRXCSR , RECR(T=17
+4

SEQ 0050
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DZDuue M1 31-MRY-?7 09 50 INITIRLIZE THE COMMON TAGS SEQ 0051
2521 011332 104004 ERROR &4 ;RECACT SHOULD BE RSSERTED
2522 01133« 105777 170352 TSTE IRXCSR : RXOONE=07
2523 011340 100001 BPL .4
2524 011342 104004 ERROR 4 +RXDONE SHOULD NOT BE RSSERTED
2625 011344 012767 000010 167550 MOV #8.,SHIFY , ROF SHIFTS
2526 011352 012767 000025 170120 MOV 825, $THPY . ANY CHARRR(CTER
2527 011360 004767 005606 JSR PC.RPOKE
2528 011364 105777 170322 TST8 SRXCSR »RXDONE=17
2529 011370 100401 BMI .4
2530 011372 104004 ERROR & . RXDONE SHOULD NOW BE RSSERTED
2531 011374 012700 000025 MoV #25.R0 +EXPECTED
25632 011400 01?701 170312 MOV oRXDBUF. R1 » RCTUARL
2533 011404 020001 CHP RO.R1
2534 011406 001401 BEQ .44
gggz 011410 104002 ERROR 2 ; CHARACTERS SHOULD BE MATCHED
2537
2538
2539 »»THIS TEST VERIFYS THRT HDX MODE DISQUAL IFIES THE
2540 ,.RECEIVER WHEN SEND 1S RSSERTED
2541 ,»MODE: SYNC EXT
2542 .. LENGTH: EIGHT
2543 ++NOTE: THIS TEST WORKS ONLY IN MAINT EXTERNAL MODE .
2544 ;. THIS TEST USES BOTH RECEIVER & TRANSMITTER LOGHC
2545 AR $30 0300003000000 0 00000380 330009000090002000200002000020022202¢2¢8
2546 011412 000004 TST25 SCOPE
2547 011414 106767 167533 1ST8 JHRBY
2548 011420 100155 BPL 19 ;GET OUT OF THIS TEST IF "NO"
2549 011422 016703 170270 MCV RXDBUF,R3 ,FOR ERROR MESSAGE
2550 011426 0527?77 000400 170272 BIS #MRESET, 9TXCSR . MASTER RESET
2551 011834 012777 020000 170260 MoV SSYNEXT, aPARCSR , SET THE MODE
2522 011442 052777 000400 170256 BIS #MRESET, dTXCSR ., MASTER RESET
2553
2554 +SET MAINTENANCE MODE & SEND
2555 +NOTE. BIT WINDOWRCLK RARE CLERRED (MTDARTR=0)
2556 011460 0127?77 010020 170250 MOV #MEXT!SEND, 9 TXCSR
2557
2558 ;SET MODE. &% OF BITS.PARITY SENSE.8 LORD SYNC REG
2559 011486 012?77 026026 170236 HOV #SYNEXT!E IGHT !NOPAR ' 26, dPRRCSR
2560 01146M 052777 000020 170220 BIS #SYNSCH, dRXCSR , SET SERRCH SYNC
2561 011472 112777 000025 170232 MOVB #25, e TXDBUF ; ANY CHARACTER
2562 ,POKE CLK FOR SYNCRONIZARTION
2563 011500 052777 020000 170220 BIS #CLK, 8TXCSR .,POKE CLK UP
256N ;HAIT FOR CABLE & DRIVER DELAYS
2565 011506 016702 167406 MOV HOLD.RZ ,HAIT THIS ANT
2566 011512 005302 DEC R2 CHALT
2667 011514 001376 BNE =2
2568 JEXIT,
2569 011516 042777 020000 170202 BIC #CLK, dTXCSR -POKE CLK DOWN
2570 HAIT FOR CABLE & DRIVER DELRYS
2671 011524 016702 167370 HOv HOLD.RZ . HRAIT THIS AHT
2572 011530 005302 DEC R2 LHRIT
2673 011532 001376 BNE -2
2574 JEXIT
2676 011534 012767 000010 167360 HOV #8 . SHIFY &% OF SHIFTS

2576 011542 29
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2577
2578
2579
2580
2581
2582
2583
2584
2585
2586
2587
2588
2589
2590
2591
2592
2593
25%
2595
2596
2597
2598
2599
2600
2601
2602
2603
2604
2605
2606
2607
2508
2609
2610
2611
26172
2613
2614
2615
2616
2617
2618
2619
2620
2621
2622
2623
2624
2¢25
2626
2627
2628
2629
2630
2631
2632

M1
011542

011550
011554
011556

011560

011566
011572
01157y

011576
011602
011610
011612
011620
011624
011626
011632
01163y
011636
011642
011646
011650
011852
011654
011662
011670
011670

011676
011702
01170%

011706

11214
011720
011722

011724
011730
011732
011736
011740

011742
0117246
011750
011752

011754

31-HRY-77
052777

016702
005102
001376

Q42?777

016702
005302
001376

00£367
022767
001003
112?277
005767
001346
105777
100401
104004
012700
017701
020001
001401
104002
052777
012767

052777

016702
005302
001376

042777

016702
005302
ou1376

005367
001357
105777
100001
104004

017701
020001
001401
104002

21-SEP-77 09- 22 PRGE 5S4

09: 50
020000
167344

020000
167326

167320
000003

000024
167276

170060

000025
170050

000uU10
000010

020000
167216

020000
167200

167172
167754

167750

170156

170140

167312
170112

170044
167232

170030

170012

N &

INITIRLIZE THE COMMON TRGS SEQ 0052
BiS $CLK, 9TXCSR ;POKE CLK UP
;HRIT FOR CRBLE & DRIVER DELRAYS
MOV HOLD.R2Z HAIT THIS AMT
DEC R2 JHRIT
BNE =2
JEXIT. .
BIC #CLK, aTXCSR +POKE CLK DOWN
+HRIT FOR CRBLE L DRIVER DELAYS
MOV HOLD,R2 , WARIT THIS AMT
DEC R2 JHARILT
BNE . =2
JEXIT,
DEC SHIFT ;8% OF SHIFTS
CMP $3,SHIFT 1S IT TIME TO LORD NEXT CHAR 7
BNE 38
MOVB ®#24, 9TXDBUF ., LOAD NEXT CHRR
38 TST SHIFT
BNE 29
TST8B ORXCSR ., RXDONE=1"
BMI .Y
ERROR 4 ,RXDONE SHOULD BE SET
MOV #25.R0 ,EXPECTED
MOV ORXDBIIF . R1 » ACTURL
chp RO.R1
BEQ .44
ERROR 2 . CHARACTERS SHOULD COMPRRE
BIS $HDXEN, 9TXCSR . SET HALF DUPLEX HDX
MOV #8. . SHIFT .8 OF SHIFT
4s
BiIS $CLK, 9TXCSR POKE CLK UP
+HRIT FOR CABLE & DRIVER DELAYS
MOV HOLD,RZ ,WAIT THIS AMT
DEC R2 JHALT
BNE ="
JEXIT .
BIC $CLK, 9TXCSR .POKE CLK DOWN
+WRIT FOR CABLE & DRIVER DELRYS
MOV HOLD.RZ . HRIT THIS RAMT
DEC R2 SHALT
BNE -2
JEXIT .
DEC SHIFT
BNE 49
TST8 IRXCSR , RXDONE=0"
8PL +
ERROR 4 . RXDONE SHOULD NOT BE ASSERTED
,CHECK QUT HOX LOGIC
MOV oRXDBUF . R1 . RCTUARL
cHP RO.R1
BEQ +y
ERROR 2 . CHARACTERS SHOULD COMPRRE
,NOTE THRT CHARACTER 25 WILL BE FROZEN
. IN THE RXDBUF EVEN THOUGH CHRRRCTER 2% HRS
,SENT TO THE RECE IVER
18
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DZOUUB M11 31-MARY-77 Q9 50 INITIRLIZE THE COMMON TRGS SEQ 0053
2633
2634
2635 .+ THIS TEST VERIFYS THRAT BREAK FORCES R SPRCE CONDITION
2636 ,+»ON THE LINE HWHMILE TRANSHMITTING
2637 .. THIS TEST USES BOTH THE RECEIVER RAND TRANSMITTER LOGIC
2638 ; » MODE SYNC EXT (SYNEXT)
2639 . LENGTH: EIGHT
2640 !
2641
2642 PP $ 003000030008 300 3000838308008 8033003002323 00490080¢08800808%0%¢
2643 011754 (000004 7ST26 SCOPE
2644 011756 052777 000400 167742 BIS SMRESET, 9TXCSR . MRASTER RESET
2645 011768 0127?77 020000 167730 MOV $SYNEXT. oPRRCSR ;SET THE MODE
%2:; 011772 052777 000400 167726 BIS BMRESET. 9TXCSR ., MRSTER RESET
2648 ,SET MAINTENANCE MODE & SEND
2649 ,NOTE BIT WINDOWRCLK ARE CLERRED (MTDATR=0)
g:g? 012000 012777 004020 167720 MOV $MINT!'SEND, dTXCSR
2652 ,SET MODE. % OF BITS.PARITY SENSE.8 LORD SYNC REG
2653 012006 012?777 026026 167706 MOV BSYNEXT!EIGHT 'NOPRR ! 26. 8PRRCSR
2654 012014 0527?77 000020 167670 g81s BSYNSCH., gRXCSR , SET SERRCH SYNC
2655 012022 016703 167670 MOV RXDBUF.R3 .FOR ERROR MESSAGE
2656 012026 012767 000002 167070 MOV 82, COUNT .® OF TIMES
2657 012034 112777 000025 167670 MOVB 825, 9TXDBUF ;ANY C(HARRCTER
2658 ,POKE CLK FOR SYNCRONIZARTION
2659 012042 052777 020000 167656 BIS SCLK, 9TXCSR ;POKE CLK UP
2660 012050 082777 020000 167650 BIC BCLK, 9TXCSR ,POKE CLK DOUWN
2661 012056 012700 000025 MOV $25.R0 +EXPECTED
%66% 012062 012767 000010 167032 19 MOV &8, . SHIFT . % OF SHIFTS
66
2664 012070 29
26